TCS LATEST PAPERS

TCS Test Pattern:
It was an online exam…. Test Consists of 3 Sections… +  Psychometric Test

1. Test on Synonyms and Antonyms (40 questions, 20 minutes: Also Q’s on Sentence Completion).

2.  Aptitude Test (32 questions, 40 minutes: General Questions on Mathematics).

3.  Critical Reasoning (30 Minutes: 3 Analysis Paragraphs and 12 questions Relating them).

4. Psychometric Test (150 Questions, 30 minutes: only if you Qualify in the above tests).                           

 Details about How to Prepare for the above tests: 
 1.          Verbal Ability:
 This Test contains Synonyms & Antonyms…Almost all of them were From GRE BARRON’S 12th Edition & upward…30-50% of them will be repeated from previous TCS papers. Few Questions on Sentence Completion were also there..for these also refer BARRON’S.
NOTE: During the Exam..you should be careful..because on the computer screen the names  Synonyms & Antonyms will be placed side by side so that we may by mistake choose an antonym instead of a synonym…so Be Careful..                      

2.          Aptitude Test: 
This test will consist of very general questions…This is the easiest section Compared to the  Other Two. Almost 70-80 Questions will be repeated from the Previous TCS Papers…just learn the method from those papers..same model will be given..(This happened almost all the times). If you have time refer to any Aptitude book of your interest…it may be  R.S.AGARWAL or any Other……

3.         Critical Reasoning:
        Here Starts your Problems…30 Minutes…12 questions..don’t think that there is a lot of  Time..these will be somewhat tougher those who has some touch with such kind..and will be Very Tough.. if you haven’t seen this kind before..so,you should have some practice  relating this kind of questions…  3 paragraphs will be given.. 3X4.. 12 questions.. first 2 paragraphs will be   some twisty questions… like our arrangements questions… routes between cities.. like  that… and the last one will be on Data Interpretation…

You prepare Data Interpretation again from BARRON’S…. but the remaining  from R.S.AGARWAL-Reasoning…. Or from Barron’s 13th Edition

4.         Psychometric Test:
This test comes up only if you qualify in the Aptitude test… This test consists of 150 questions which we should answer in 30 minutes (of course, that much time is not required) Don’t think that this test has no weightage.. there is filtering in this test too… this test tests  your psychology.. Remember among 150 many questions were asked again & again in a 
variety of ways.. so don’t get trapped… be honest while attempting this test.. choose what  you’re your heart says.. it will take you through the test..
                                      This ends the Tests……                                                                  

INTERVIEWS:
Now if you are Alive Even after All these tests….then you have to face a Technical Interview…
It may be on the same day of the Test.. so be Prepared in Advance…..
The Interview will be done by a Panel of 2 members…. No need to worry.. They will be Very  supporting & Friendly.. First they ask us to Introduce ourselves… then they’ll go into your project details… don’t forget to prepare project…. They mainly concentrate on your project only…so be  confident on every aspect of your project… then you should have some basic knowledge on C  language. There will be some questions like “what is the o/p of this code?”, “what are the errors in  the code?”..like that… so be prepared for all the basic concepts.. If needed you have to write some  small codes too.. at the end they will ask some general questios like “Why TCS?”, “Where do you  see yourself in the next five years?”, “do you have any questions?”, try ask some questions… it  shows your interest in the Company.. 

HR:
Now if Chase this one too…. Then comes your Final Attack.. the HR Round… I many times heard that “I failed in HR round!”.. likewise anwers…. But you should not fail in it.. because it involves no technical questions… it just dwell into your innerself… so, be confident and frank while facing this round…They generally ask questions like “Tell about yourself?”, “Who r your role models?”, “What is your weakness?”, don’t say “I Have no weakness!”, just prepare a small weakness for yourself that causes no harm to your future…O.K.. “What is your mother tongue?”

if your Academic background is good.. be prepared to face some Techies here too….

NOW IF YOU ARE SUCCESSFUL HERE TOO….. CONGRATS… YOU ARE IN TCS…..

 
This is a TCS PAPER which took place ON 7th MARCH, 2007

1.What is the largest prime number stored in a—

a) 6 bit pattern (ANS~2^6=64,So no is 61)

b) 7 bit pattern (ANS~2^7=128, So no is 127)

c) 8 bit pattern (ANS~2^8=256, So no is 251)

d) 9 bit pattern (ANS~2^9=512, So no is 503)

2.What is the max 3 digit Prime no? (ANS=997)

3.If G(0)= -1, G(1)=1, G(N)=G(N-1)-G(N-2), then find-
a) G(2)=? (ANS= 2)
b) G(3)=? (ANS= 1)
c) G(4)=? (ANS= -1)
d) G(5)=? (ANS= -2)
e) G(6)=? (ANS= -1)

[ HINT~REMEMBER THE QUESTION & THE RIGHT ANS.THIS PROB REQD 
TIME TO SOLVE.QUESTION IS REPEATED BY SAME DATA MAX TIME. ]

4.If g(1)= -1 & g(0)=1 & g(n)=(3*g(n-1))+(2*g(n-2)) then find g(4)? 

5.Which is not a TRIANGLE—
# a) (2m,3m,4m) b) (3m,4m,7m) c) (3m,5m,9m)

[ HINT~SUMMATION OF 2 SIDES > 3RD SIDE. ]

# a) (30’,60’,80’) b) (40’,60’,50’) c) (60’,30’,90’)

[ HINT~SUMMATION OF 3 ANGLES=180 DEGREE ]

6.Which is the exact power of—
#Two - Choice : a)2048 b)2068 c)2668 d)2408 [ ANS=2048 ] 

[ HINT~CHECK THE NO IS DIVISIBLE BY 2^1,2^2,2^3 & SO ON ]

# Three - Choice : a)2768 b)2678 c)2187 d)none of these [ ANS=2187 ]

# Four - Choice : a)4192 b)2340 c)4096 [ ANS=4096 ]

[ HINT~SIMILAR WAY]

7.Complete the series—

a)3,8,a,24,b,48,63 [ ANS~ a=15, b=35 ]

[ HINT~DIFFERENCE IS 5,7,9,11,13,15 ]

b)26,19,17,13,11, ,8,7 [ ANS=9]

[ HINT~26,17,11,8 DECREASING LIKE 9,6,3 & 19,13,9,7 DECREASING 

LIKE 6,4,2 ]

c)9,10,11,13,15, ,21,28 [ ANS=19 ]

[ HINT~9,11,15,21 INCREASING LIKE 2,4,6 & 10,13,19,28 INCRESING

LIKE 3,6,9]

e) 4, -5, 11, -14, 22, --- [ ANS= -27 ]
[HINT~]

8.CODING & DECODING—

a)QJFBTF=PLEASE then HBJO=? [ ANS=GAIN (PREVIOUS LETTER) ]

b)TAFJHH=RBEKGI then RBDJK=? [ ANS=PCCKJ (PREVIOUS+ AFFTER LETTER) ]

c)TUBUJPO=STATION then FILTER=? [ ANS=SIMILAR TYPE]

9.Interchange 1st & 2nd ,3rd & 4th , and so on, of the words “UNIMPRESSIVE” & then find 10th letter a)to the left b)from the left [ ANS= a) M, b) S ]

[ SIMILAR WORDS=ORGANISATIONAL,SIMULTANEOUSLY ]

10.How many V’s are there under the condition that, S should be followed by V & should not be followed by F.Sequence is=>VSFTWELBVSLLKSMSVFLSDI…like that

11.Select odd one out—

a)SQL Server,Ingress,Oracle,DB2,Java [ ANS=Java ]

bSMPT,ARP,WAP,HTTP,BAAN [ ANS=BAAN ]

c)Sybase,Windows NT,Linux,mvs,Java [ ANS=Java ]

d)Smalltalk,Eiffel,Lisp,Java [ ANS=Java(NOT SURE) ]

e)SQL,DB2,SYBASE,HTTP [ ANS=HTTP ]

f)SMPT,WAP,SAP,ARP [ ANS=SAP ]

g)Oracle,Linux,Ingress,DB2 [ ANS=LINUX ]

h)Linux,Unix,Solaries,SQL Server [ ANS=SQL Server ]

12.Find the value of—

a) @@+25-++@16, where @ denotes ”square” & + denotes “square root”. [ANS=621]

b) $%$6-%$%6, where $ means “tripling” & % means “change of sign”. [ANS= -72]

c) % # % 6 + # %# 6, % means “doubling” & # means “reciprocal”.

[ HINT~FIRST CHOOSE GENERAL SYMBOL(LIKE “-“ IN 1ST PROBLEM) &

THEN MOVE FROM RIGHT TO LEFT ] 

13.a)The no 362 in decimal system is given by 1362 in the X system of numbers.Find

X=? [ ANS=6 ] 

b)In which base of system,decimal no 194 is equal to 1234? 

OR (194)10=(1234)X Find X=? [ ANS=BASE 5 ]

[ HINT= X3*1+X2*2+X1*3+X0*4=194, or X3+2X2+3X=190, or X=5 ] 

14.In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory, with the address of the first element X (1, 1) is 3000, find the address of X (8, 5). [ ANS= 3212 ] [ HINT~ Formula=Base Add + Byte reqd{N(i-1)+(j-1)} 

where, Base Add=3000; Byte reqd=4; N=no of coulumns in array=7; i=8; j=5; 

IN ROW MAJOR ORDER ]

15.

16.A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach the destination which is in north west direction.Given the latitude and longitude of source and destination. Find the local time of destination when the
flight reaches there? [ ANS: 1:00 P.M ] [ HINT~THIS PROB CAN NOT BE SOLVED AS THE latitude and longitude ARE NOT GIVEN.SO ANS IS LIKE ( 2 A.M. +11 hr) ]

17. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed.
a) 6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00 (Hint : Every 1 deg longitude is equal to 4 minutes . If west to east add time else subtract time) ANS: (E) 8:00 

18. The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied?

19.A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work? ANS:16

20.Number of faces, vertices and edges of a cube ANS:6,8,12

21. Find the result of the following _expression if, M denotes modulus operation, R denotes round-off, T denotes truncation:
M(373,5)+R(3.4)+T(7.7)+R(5.8) ANS:19

22. A power unit is there by the bank of the river of 750 meters width. A cable is made from power unit to power a plant opposite to that of the river and 1500mts away from the power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on the bank is Rs.12/- per meter. Find the total of laying the cable.
ANS:20250

23. In Madras , temperature at noon varies according to -t^2/2 + 8t + 3, where t is elapsed time. Find how much temperature more or less in 4pm to 9pm. ANS: 385.8(DB)

24.The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? ANS: 30MILISECOND

25. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work?

26. If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 30%, 20% and 10%. What will be the fuel economy if they were used combined. ANS: 20%

27. Which of the following are orthogonal pairs? a. 3i+2j b. i+j c. 2i-3j d. -7i+j ANS: (A)& (C).

28. A can copy 50 papers in 10 hours while both A & B can copy 70 papers in 10 hours. Then for how many hours required for B to copy 26 papers? ANS: 13

29.A is twice efficient than B. A and B can both work together to complete a work in 7 days. Then find in how many days A alone can complete the work? ANS: 10.5 DAYS(11)

30.A finish the work in 10 days. B is 60% efficient than A. So hoW days does B take to finish the work?ANS : 4DAYS.

31.A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days then how many days should B work to complete A?s work? ANS : 3.2 DAYS(4)

32. Find the singularity matrix from a given set of matrices?(Hint det(A)=0)

33.Sum of slopes of 2 perpendicular st. lines is given. Find the pair of lines from the given set of options which satisfy the above condition? 

Section 3.Critical Reasoning.
1.The players G,H,J,K,L,M,N,O are to be felicitated of representing the county team in Baseball Out of these H,M,O also are in the Football team and K,N are there in the Basket ball team . These players are to be seated on a table and no
two players who has represented the county in more than one game are to sit together.
1.Which one of the orders can they be seated in
2. Which of the orders is not possible
3. If N is seated in the middle then which of the following pairs cannot be seated near him .
4. If M is seated then which of the following pairs can be seated next to him.

Choices are given for all the questions
2.There are 2 groups named Brown and red. They can?t marry in the same group. If the husband or wife dies then the person will convert to their own group. If a person is married then the husband will have to change his group to his wife?s
group. The child will own the mothers group. From these a set of 4 questions were given .Solve them
Eg;
1.Brown?s daughter is red (False)
2. If a person is red. Then his/her mother?s brother belong to which group if he is married (Brown)
3.7 people - a,b,c,d,e,f,g Need to make a seating arrangement for them.

Conditions:
1)A should be at the center 
2) B,F should be at the right extreme
3)C,E always in pair 
4)D,G as far as possible
Questions from the above were asked?
Eg: Which of the following pairs were not possible?
Others questions were similar to the above. More questions were from Barrons

There were three rounds...
1. online test
2. Technical Interview
3. MR interview

(i) Verbal 32 questions..
10 synonyms,
10 antonyms,
12 Comprehension questions..
(ii) Aptitude
(iii) Critical Reasoning(but they didnt ask questions from critical.. all r from analytical part... GRE barrons 12th edition(only model test papers))

In verbal, i got so many questions which are not in GRE... So prepare well... i think in verbal i got below 15..

In apti i got the answers for many questions... only 5 will be wrong..
Of course all the questions are from old papers only.. but this time they changed the names, numbers... also in some problems i felt that they changed the analysing ways... but it is so easy to clear the apti round.... i forget the number of questions.. i think its more than 32- 40...
some of the questions...
1.For temperature a function is given according to time t^2 / 6 + 4 t + 12.Wat is the temp ris eor fall between 4 Am to 9 Am .-----------------
2.21. ODD one out
Select the odd one out…..a. Java b. Lisp c. Smalltalk d. Eiffel. Ans: lisp

Select the odd one out a. SMTP b. WAP c. SAP d. ARP. Ans: SAP

Select the odd one out a. Oracle b. Linux c. Ingress d. DB2 Ans: Linux

Select the odd one out a. WAP b. HTTP c. BAAN d. ARP Ans: BANN

Select the odd one out a. LINUX b. UNIX c. SOLARIS d. SQL SEVER Ans: d

Select the odd one out a. SQL b. DB2 c. SYBASE d. HTTP Ans: HTTP

The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied?

Ans: 0.5 % ( sqrt( 101 N ) )

Wat is the value of % # % (5) + # % # ( 2 )wher % is doubling,# means reciprocal
The size of the bucket is N kb.The bucket fills at the rate of 0.1 kb per millisec.A programmer sends a program to receiver.There it waits for 10 millisec and response wil be back to programmer in 20 millisec.Hw much time the program takes to get a response back to the programmer after it is sent??? ans 30 millisec

The following is not a triangle:
A) (60o, 80o, 20o) B) (90o, 60o, 30o) C) (54o, 66o, 60o) D) (69o, 51o, 60o)
Ans: A (since sum of the angles in a triangle = 180o.)

The following is a planar cube (E, V, F):
A) (12, 8, 6) B) (12, 6, 8) C) (6, 6, 8) D) (6, 8, 6)
E - no. of edges V - no. of vertices F - no. of faces
Ans: A

The greatest prime number among the following which can be stored in a 9-bit word computer is:
ans.509

Calc. A-(B C) and represent the resulting 8-bit word in decimal form.
A 0 0 1 1 0 0 1 1
B 0 1 0 1 0 1 0 1
C 0 0 0 0 1 1 1 1
A-(B C)
(I might have interchanged the values of A, B & C but still try this.)

Fit a suitable curve with the given data.
x y
1000 3
… …
… …
… …
A) y = log x B) y = log 10x C) y = -10log x D) y = ex

How many B's are followed by G's which are not followed by S's in the following series:
B B G M P Q B G S K O B G A S B B G D E F B G S T I
Ans: 4 (Another Q on the same logic was also asked.)

M(373,5) + R(3.4) + T(7.7) - R(5.8) = ___
M - Modulo R - Round-off T - Truncate

Match the following:
A) Female - Girl i) A type of
B) Bug - Reptile ii) A superset of
C) Beagle - Dog iii) A part of
D) Piston - Engine iv) Not a part of

There is a matrix X of order 7 9 whose elements will be filled column-wise. The address of the first element X(1,1) is 1258. Each element occupies 4 bytes of memory. Then the address of the element X(5,8) is 1473.

The line equation of the following curve is
A) y = ex B) y = tan x C) y = cos x D) x + y = 0
A & B can do a piece of work in 12 days. A is capable of doing twice the work as B. In how many days A alone can complete the work?

If the first/second, third/fourth, fifth/sixth etc. letters of the word PSYCHIATRIST are interchanged, then the letter which is 8th from right is I . 
If DCPRY is coded as CBOQX then SPEND can be coded as RODMC.

The following is not a triangle:
A) (2,3,4) B) (3,4,5) C) (5,5,5) D) (1,3,5)
(Momentum*Velocity)/(Acceleration * distance). Find units/Mass

Which of the following set of numbers has the highest Standard deviation?

a)1,0,1,0,1,0 b) -1, -1, -1, -1, -1, -1

c)1,1,1,1,1,1 d) 1,1,0, -1,0, -1

	Test Paper :2


	 Paper Type     : Whole Testpaper 

	 Test Date        : 20  March  2007  

	 Test Location  : Integral University 

	 Posted By        : Vineet Mishra


TCS PAPER ON 20th MARCH
hi ,friends its ,vineet mishra. 


TCS Test Pattern 

Test Consists of 3 Sections… 

1. Test on Synonyms and Antonyms (40 questions, 20 minutes: Also Q’s on Sentence Completion). 

2. Aptitude Test (32 questions(may vary), 40 minutes: General Questions on Mathematics). 

3. Critical Reasoning (30 Minutes: 3 Analysis Paragraphs and 12 questions Relating them


Written Test pattern 
This is on line test paper. There were three sections. plz prepare last papers too & BARRONS Properly
some of antonyms are
Admonish= usurp
Adhesive = tenacious, sticky, glue, gum, bonding agent
Alienate = estrange
Bileaf = big screen, big shot, big success
Belief = conviction
Baffle = puzzle
Brim = edge
Covet = to desire
Caprice = whim
Concur = similar, acquiesce
Confiscate = appropriate, to take charge, to annex
Cargo = load, luggage
Dispel = scatter
Divulge = reveal, make known, disclose
Discretion = prudence
Emancipate = liberate
Efface = obliterate
Embrace = hug, hold, cuddle
Furtive = stealthy
Heap = to gather
Hamper = obstruct
Heap = to pile
Hover = linger
Incentive = spur
Instigate = incite
Inert = passive
Latitude = scope
Lethargy = stupor
Lamont = lakes, lamentable
Lament = wail
Latent = potential
Merry = Enjoy
Meager = small, little, scanty
Misery = distress
Momentary = for small time
Merit = to deserve
Miserable = unhappy, sad
Obstinate = stubborn
Overt = obvious, clear, explicit, evident
Pretentious = ostentatious
Potential = ability
Rinaile = rigorous
Renounce= reject
Solicit = Humble, urge
Subside = wane
Stifle = snits
Tranquil = calm, silent, serene
To merit- to deserve
Volume = quantity
Veer = diverge
Wethargy = well wisher 
2. General Aptitude 
For this section it is more than enough to solve all the previous papers available in this site. Then for some concepts refer R.S Agarwal aptitude book. Most of the problems will be repeated only with the numbers changed. But u will have the same model. 
I could not able to recollect all the questions in my test, but I’m just giving you the models for few questions, what I have in my mind. 
1.If g (0)=1,g (1)=1 and g (n)= g (n-1) + g (n –2). Find g (6).
a) 9            b) 13              c) 21          d) 7
3. Select the odd one out.
a) Java            b) Lisp         c) Smalltalk    d) Eiffel.
a) Lisp.           b) Java.        c) Eiffel.         d) Smalltalk.
4. Select the odd one out
a) Linux           b) Oracle    c) DB2    d) Ingress.
5. Number of faces, vertices and edges of a cube
a) 6,8,12 b) 8,12,8 c) 8,6,12 d) 12,8,6
6 in a two dimensional array X(9,7) which each element occupying 8 bytes of memory with address of the first element X(1,1) is 1072, find the address of X(8,5). 

 

7Which of the following highest Standard deviation
5, -5,5,-5, 5,-5 b) 5,5,5,5,5,5 c) -5,-5,-5,-5,-5,-5 d) -5,5,-5,5,-5,5
 
Critical Reasoning.
questions were on one passage "politicians attending a party. They are seated in some way". 4 questions were on the passage "Red and Brown group in a community and conditions for their marriage". .
 
Technical & HR Round 

in technical question  bassically on java &c++ 
in hr They asked me abt my family background They asked me to tell abt it. They asked whether I am ready to sign a bond for 2yrs. I said OK. They asked my strengths, why shud I select u?
ALL ARE FROM 12 TH EDITION BARRONS. SO SEE ALL THE MODEL TEST PAPERS FOR THIS PART.
ALL THE BEST.
VERBAL SECTION
Most of the words in this section were repeated from previous year question papers ,but the some new words were-
  Plainaitive 

  Pinnacle 

  Skump 

  Banal 

  Irksome 

  Meager 

  Goad 

  Garrulous 

  Asperity 

  Dangle 

  Misanthrope
Other than this there was some paragraph followed by question (you will easily do it)
QUANT SECTION
All the question in this section was repeated from previous year question paper, so practice them very well. The entire question are easily available in other paper thus no need to write them again.
CRITICAL REASONING
It consisted of 3 paragraphs followed by 4 questions each. All the questions are from Barron’s 12th edition, model test papers. So practice them well. The questions I got were-:
1-A is north of B
B is south of C
C is west of F
2- Post offices are closed on Saturday in New Wales.
Banks are closed on Sundays.
I was selected in the aptitude test and was called for final interview round next day. Out of 206 students; those appeared for test 104 cleared it.
INTERVIEW ROUNDS
It consisted of three rounds Technical, H.R and M.R Round.
TECHNICAL INTERVIEW
· Tell me about yourself? 

· Your areas of interest? 

· Tell me about some basic laws of thermodynamics? 

· What are Air standard cycles? 

· P-V, T-S Diagrams of Carnot cycle? 

· Why Carnot cycle is not practical? It’s limitations? 

· What is C.P.M and P.E.R.T? 

· What is knocking? 

· What is L.P.P (operations research)? 

· Basic refrigeration cycle? 

· Why manholes are circular? 

· Practical application of factor of safety? 

· Functioning of power plant (summer training)? 

· What do you about C and C++? 

· Phases of S/W development? 

· How mech. Design processes differ from s/w design process?
I cleared it, and then I was called for my H.R interview.
H.R INTERVIEW
  Tell me about your self? 

  Your family background? 

  Describe your native place (mine sonebhadra)? 

  How do you rate your college on 1-10 scale? 

  What did you learned from your summer training (other than technical)? 

  Why interested in s/w industry after being a mech engineer? 

  Are you wiling to re locate? 

  Are you comfortable with bond and overseas agreement? 

  Ask something from us? (I asked about companies PCMM and CMMi certification?
M.R INTERVIEW
  Tell me about your self other than mentioned in you resume? 

  Why willing to join TCS? 

  Full form of TCS? (I replied total customer satisfaction) 

  How mech engineers benefit a s/w industry? 

  Some question relating to design methodology?
Somehow I convinced them or say they were convinced by me and I was finally selected. Total 31 students were selected from ANAND ENGG COLLEGE.
	Test Paper :4


	 Paper Type     : Candidate Experiences 

	 Test Date        : 19  March  2007  

	 Test Location  : Dr.Ambedkar Institute Of Technology,Bangalore 

	 Posted By        : Vishala


TCS PAPER ON 19th MARCH AT BANGALORE
Hi Friends!!!!!!!!!!
Here is my written test experience.
as u all know paper consists of 3 sections .
Verbal
Aptitude
Critical reasoning 

first section consists of synonyms, antonyms, sentence completion, reading comprehension.
RC passage will be repeated. so please go through previous papers and also GRE BARRONS. They will not change even the order of questions.
synonyms and antonyms- u need to mug up high frequency words from GRE BARRONS. any edition of GRE barrons will help u alot 4 this section. 

second section is general aptitude test.
Friends dont worry all the questions were repeated. plz go through previous papers. they will help u a lot.Try to solve all the questions.If at all u are unable to solve any question plz atleast mug up the answer. practice these papers well, so that u get enough time 4 other sectrion. 

Third section is of critical reasoning.
there are 3 reasoning passages given,4 questions under each
Even these are repeated ones from GRE BARRONS 12th edition.(from 5  model test papers only)
1.first question was on ........red and brown groups............easy one
2. second is like............all g's are h......easy one dont worry
3 third one on  .......there are 3 cities A,B,C.different ways to go to these cities..........quiet easy one. 

thats all with this round. Friends u can get through this round very easily if u study gre barrons n previous papers.if u are prefect with this then the test is just like a piece of cake............ 

So ...............ALL THE BEST........... DO WELL........................ 

Regards,
	Test Paper :7


	 Paper Type     : Whole Testpaper 

	 Test Date        : 19  March  2007  

	 Test Location  : Sastra Thanjavur 
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TCS PAPER ON 19th MARCH 
 

 

HI FRIENDS I AM RAHUL RASHU PLACED IN TCS HERE ARE THE QUESTIONS 
THE TEST CONSISTS OF 3 SECTIONS 


SECTION 1 
THIS SECTION CONSISTS OF 10 SYNONYMS AND 10 ANTONYMS 

ALL THE QUESTIONS ARE FROM BARRON BOOK YOU MUST BE THOROUGH WITH THE HIGH FREQUENCY WORDS AND YOU MUST SOLVE PREVIOUS YEARS PAPERS   . 


SOME OF THE WORDS WHICH I REMEMBER AM GIVINGING FOR YOUR REFERENCE 

1. INFIRM 

2. DRUDGERY 

3. DEADBEAT 

4. ENERVATE 

5. PRAGMATISTIC 

6. MASTHEAD 


SORRY FRIENDS I REMEMBER ONLY THIS MUCH WORDS BUT YOU MUST BE THOROUGH WITH THIS SECTION 

FOR THIS BE CAREFUL. OTHER THAN THIS ONE PASSAGE WAS THERE IT WAS ALSO  FROM BARRON. I AM MENTIONING YOU THE PAGE NUMBER 443 16TH EDITION MODEL TEST NUMBER 1. OTHER THAN THIS ONE PARAGRAPH FOR FILL IN THE BLANKS WAS ALSO THERE WHICH I DON’T REMEMBER FROM WHERE THEY COLLECTED BUT IT WAS EASY SO YOU CAN SOLVE THAT ON THE SPOT ALSO. 


SECTION2: 

THIS SECTION WAS FOR SIMPLE APTITUDES FOR THIS JUST GO THROUGH R.S.AGARWAL AND SOLVE PREVIOUS YEARS PAPERS SOME OF THE QUESTIONS WHICH I REMEMBER I AM GIVING YOU 

1. In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory, with the address of the first element X (1, 1) is 3000, find the address of X (8, 5). 

2. In the word ORGANISATIONAL, if the first and second, third and forth, forth and fifth, fifth and sixth words are interchanged up to the last letter, what would be the tenth letter from right 

3. What is the largest prime number that can be stored in an 8-bit memory? 

4. Select the odd one out. a. Java b. Lisp c. Smalltalk d. Eiffel. 

5. Select the odd one out a. SMTP b. WAP c. SAP d. ARP 

6. Select the odd one out a. Oracle b. Linux c. Ingress d. DB2 

7. Select the odd one out a. WAP b. HTTP c. BAAN d. ARP 

8. Select the odd one out a. LINUX b. UNIX c. SOLARIS d. SQL SEVER 

9. Select the odd one out a. SQL b. DB2 c. SYBASE d. HTTP 

10. The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied? 

11. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work? 

12. In which of the system, decimal number 384 is equal to 1234? 

13. Find the value of the 678 to the base 7. 

14. Number of faces, vertices and edges of a cube 

15. Complete the series 2, 7, 24, 77,__ 

16. Find the value of @@+25-++@16, where @ denotes "square" and + denotes "square root". 

17. Find the result of the following expression if, M denotes modulus operation, R denotes round-off, T denotes truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8) 

18. If TAFJHH is coded as RBEKGI then RBDJK can be coded as --------- 

19. G(0)=-1, G(1)=1, G(N)=G(N-1) - G(N-2), G(5)= ? 

20. What is the max possible 3 digit prime number? 

21. A power unit is there by the bank of the river of 750 meters width. A cable is made from power unit to power a plant opposite to that of the river and 1500mts away from the power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on the bank is Rs.12/- per meter. Find the total of laying the cable. 

22. The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied? 

23. In Madras, temperature at noon varies according to -t^2/2 + 8t + 3, where t is elapsed time. Find how much temperature more or less in 4pm to 9pm . 

24. The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? 

25. A man, a woman, and a child can do a piece of work in 6 days. Man only can do it in 24 days. Woman can do it in 16 days and in how many days child can do the same work? 

26. If the vertex (5,7) is placed in the memory. First vertex (1,1) ‘s address is 1245 and then address of (5,7) is ---------- 

27. Which of the following are orthogonal pairs? a. 3i+2j b. i+j c. 2i-3j d. -7i+j 

28. If VXUPLVH is written as SURMISE, what is SHDVD? 

29. If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 

30%, 20% and 10%. What will be the fuel economy if they were used combined. 

30. What is the power of 2? a. 2068 b.2048 c.2668 

31. Complete the series. 3, 8, --, 24, --, 48, 63 

32. Complete the series. 4, -5, 11, -14, 22, --- 

33. A, B and C are 8 bit no’s. They are as follows: 

A 1 1 0 1 1 0 1 1 

B 0 1 1 1 1 0 1 0 

C 0 1 1 0 1 1 0 1 

Find ( (A-B) u C )=? 

Hint : A-B is {A} – {A n B} 

34. A Flight takes off at 2 A.M from northeast direction and travels for 11 hours to reach the destination which is in north west direction. Given the latitude and longitude of source and destination. Find the local time of destination when the 

flight reaches there? 

35. A can copy 50 papers in 10 hours while both A & B can copy 70 papers in 10 hours. Then for how many hours required for B to copy 26 papers? 

36. A is twice efficient than B. A and B can both work together to complete a work in 7 days. Then find in how many days A alone can complete the work? 

37. A finish the work in 10 days. B is 60% efficient than A. So how days does B take to finish the work? 

38. A finishes the work in 10 days & B in 8 days individually. If A works for only 6 days then how many days should B work to complete A’s work? 

39. Given the length of the 3 sides of a triangle. Find the one that is impossible? (HINT : sum of smaller 2 sides is greater than the other one which is larger) 

40. Find the singularity matrix from a given set of matrices?(Hint det(A)==0) 

41. A 2D array is declared as A[9,7] and each element requires 2 byte. If A[ 1,1 ] is stored in 3000. Find the memory of A[8,5] ? 

42. Sum of slopes of 2 perpendicular st. lines is given. Find the pair of lines from the given set of options which satisfy the above condition? 

43. (a) 2+3i (b)1+i (c) 3-2i (d) 1-7i .Find which of the above is orthogonal. 

44. (Momentum*Velocity)/(Acceleration * distance ) find units. 

45. The number 362 in decimal system is given by (1362)x in the X system of numbers find the value of X a}5 b) 6 c) 7 d) 8 e) 9 

46. Given $ means Tripling and % means change of sign then find the value of $%$6-%$%6 

47. My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed. 

a) 6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00 (Hint : Every 1 deg longitude is equal to 4 minutes . If west to east add time else subtract time) 

48. Find the highest prime number that can be stored in an 8bit computer. 

49. Which of the following set of numbers has the highest Standard deviation? 

1,0,1,0,1,0 

-1,-1,-1,-1,-1,-1 

1,1,1,1,1,1 

1,1,0,-1,0,-1 

50. Match the following: 

1. Male - Boy ---> a. A type of 

2. Square - Polygon ---> b. A part of 

3. Roof - Building ---> c. Not a type of 

4. Mushroom - Vegetables ---> d. A superset of 

Ans: 1- d, 2- a, 3- b, 4- c 

51. Match the following. 

1. brother – sister ---> a. Part of 

2. Alsatian – dog ---> b. Sibling 

3. sentence – paragraph ---> c. Type of 

4. car - steering ---> d. Not a type of 

Ans. 1-b, 2-c, 3-a, 4-d 

Remaining Questions were from Graph, pie charts, Bar chart and Venn diagram which were very easy. 

  

SECTION THREE CONSISTS OF CRITICAL REASONING 
YOU MUST BE THROUGH WITH THE BARRON GRE 12TH EDITHION CRITICAL REASONING. SEE THEY WILL TELL YOU AT THE TIME OF PPT THAT THERE WONT BE ANY SECTIONAL CUT OFF BUT I OBSERVED THAT THOSE WHO DID WELL IN APTITUDE SECTION AND NOT IN THIS SECTION WERE NOT ABLE TO CLEAR THIS ROUND. SO IF YOU ARE VNOT ABLE TO SOLVE THIS SECTION THEN SIMPLY MUGG UP ALL BECAUSE YOU DON’T HAVE ANY OPTION RATHER THAN THIS…. 

  

Q1)AN AIREDALE , A BOXER , A COLLIE, AND A DOBERMAN WIN THE TOP FOUR PRIZES IN THE KENNEL SHOW. THEIR OWNERS ARE Ms. HUNTLEY Mr. GROSSMAN AND Mr. FOSTER NOT NECESSARILY IN THAT ORDER. THEIR DOGS NAMES ARE JACK , KELLY, LAD , AND MAX, NOT NECESSARILY IN THAT ORDER 

1.    FIRST PRIZE IS WON BY 

a)   Mr. EDWARDS`S DOG 

b)   Ms. HUNTLEY`S DOG 

c)    MAX 

d)   JACK 

e)    LAD 


2.    Mr. GROSSMAN`S DOG 

a)   IS THE COLLER 

b)   IS THE BOXER 

c)    IS THE AIREDALE 

d)   WINS SECOND PRIZE 

e)    IS KELLY 

  

3) IN WHICH OF THE FOLLOWING STATEMENTS ARE THE DOGS CORRECTLY LISTED IN DECENDING 

ORDER OF THEIR PRIZES 

A)   KELLY;THE AIREDALE; Mr. EDWARD`S DOG 

B)   THE BOXER ; Mr. GROSSMAN`S DOG ; JACK 

C)   Mr. EDWARD`S DOG ; THE AIREDALE; LAD 

a)   A ONLY 

b)    B ONLY 

c)    C ONLY 

d)   A AND C ONLY 

e)    B AND C ONLY 

  

4) LAD 

a) IS OWNED BY Mr. FOSTER 

b) IS OWNED BY Mr. EDWARDS 

c) IS THE BOXER 

d) IS THE COLLIE 

e) WINS THIRD PRIZE 

2 MORE EASY QUESTIONS WERE ALSO THERE THAT YOU CAN GET AT THE BARRON BOOK 

 

ALL THE QUESTIONS FROM THE CRITICAL REASONING BOOK WERE AVAILABLE THERE BUT AS THE TEST WAS ONLINE SO EACH ONE WAS GETTING DIFFERENT QUESTIONS YOU MUST BE THROUGH WITH THIS SECTION……… 

TECHNICAL INTERVIEW 

  

MY TECHNICAL INTERVIEW WAS VERY GOOD FROM THE FIRST QUESTION ITSELF I GOT MY CONFIDENCE THEY PRAISED ME FOR MY FIRST ANSWER 

MY QUESTIONS WERE 

1)    WHAT IS CLASS, OBJECT? 

2)    WHAT IS PROTECTED AND PRIVATE? 

3)    WHAT IS PROCEDURE ORIENTED? 

4)    WHAT IS POLYMORPHISM? 

5)     AFTER THAT THEY GAVE ME 2 PROGRAMS TO WRITE. 

YOU MUST BE BOLD AND WELL MANNERED WHILE ATTENDING THE INTERVIEW. WHEN I ENTERED AND I OFFERED MY HAND FOR SHAKE HAND THEY GAVE ME WARM RESPONSE  THEY LEFT THEIR CHAIR AND WHILE SHAKING HANDS WITH ME THEY TOLD ME`` HI RAHUL I AM 

VIKRAM AND HI RAHUL I AM GANESH” THEIR BEHAVIOUR WAS SO FRIENDLY . THEY ASKED ME 

1.     WHY YOU CHOOSE BIO TECH BRANCH? 

2.     WHY SHOULD I SELECT YOU? 

3.     HOW YOU ARE BENEFITIAL FOR US? 

4.     DO YOU HAVE ANY QUESTIONS FOR US? 

  

YOU MUST ASK  A GOOD QUESTION OTHERWISE IT WILL 

CREATE A VERY NEGATIVE IMPRESSION OF YOU IN FRONT OF THEM. SO MANY PERSONS WHO DIDN’T ASK QUESTIONS WERE REJECTED. 
  

M.R ROUND 

THIS IS A COMBINATION OF H.R AND TECHNICAL TYPE THEY CAN ASK YOU ANYTHING. 

THE QUESTIONS THAT THEY ASKED ARE FOLLOWING 

1.    INTRODUCE YOURSELF? 

2.     WHY BIO TECH BRANCH? 

3.     WHAT IS THE DIFFERENCE BETWEEN C AND C++? 

4.     DO YOU HAVE ANY QUESTION FOR US? 

THAT’S IT I GOT PLACEMENT IN TCS  
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TCS PAPER ON 18th MARCH 

         
         Hi, my self SUJIT KUMAR GUPTA (CSE 3rd Yr.)from MALLABHUM INSTITUTE OF TECHNOLOGY.I m very happy after getting  placed in TCS held on 18th of March.It was an on campus. We were lucky to face the test as off line. 

  

         Basically there was three round throughout recruitment process. 

         APTITUDE
         TECHNICAL 

HR 
         APTITUDE 

         There were three sets of questions:X,Y,Z. Aptitude test basically had three sections. Mine was set X. 

         
         1.VERBAL AND NON VERBAL 

         10 Synonyms,10 Antonyms,7 fill in the blanks with 10 to12 options provided,1unseen passage. 

         Go through GRE 333 High Frequency words and once have look over the exercises given  After the each alphabets.From high frequency words   u  may get 5-6 common. 

  

  For Antonyms there r five excercises in GRE,go through all of them.   And rest of this section was really tough.Don’t worry,there was no sectional cut-off. 

  

         2.QUANTZ  
         This section is the easiest of all the section.There  was more or less 40 question frm this sec.  Just go through the previous 3-4 years TCS papers and be through with the following chapters OF R.S.Aggrawal:
         1.Time and distance 

         2.Time and work 

        \3.Series  

         4.Percentage 

         5.Problem on ages 

         6.Profit and loss 

         7.Boats and streams 

         8.Chain rule 

         9.Pie charts and Bar graph(12 question from this chapter only)* 

         Odd one out from previous TCS  papers.  

         I m sure that u practice well u will be able to answer all the question of this section. 

  

         3.CRITICAL REASONING 
         There was 12 question in this section.Actually there was 3 critical reasoning having 4 question each.Follow strictly GRE 12th edition.All the 3 reasonings were from there only.Rather if u r unable to understand the logic by heart the answers. 

  

         TECHNICAL ROUND  
         My technical round was taken around half an hour.Be cool and confident what u r speaking. Don’t get too xcited and nervous, if u don’t know particular topic.Always try to bring them in ur area of interest and be polite over there. 

  

         Following r the questions asked to me in interview: 

         1.Tell me about urself? 

         2.Whats ur favaroit subjects? 

         3.Explain QUICK SORT and its complexity in each of the case? 

         4.Asked about LINK LIST,STACK,QUEUE? 

         5.How many types of sorting r there? 

         6.What is recursion and to write a program to find factorial of anumber? 

         7.what do u mean by #? 

         8.Write a program to swap the value of the two variable without using the third variable? 

         9.What is macro? 

         10.Sudenly he asked me that “why TCS should take u”? 

         11.Prove urself that ur the best? 

         12.What is O.S.? 

         13.what is Booting?Hard booting and soft booting? 

         14.What is “DEADLOCK”? 

         15.how does deadlock occurs?and how it can be prevented? 

         16.Explain “BANKER’S ALGORITHM”. 

         17.what is priority scheduling? 

         18.What is SEMAPHORES? 

         19.What is Multitasking,Multiprocessingand cPU scheduling? 

         20.what is INTERRUPT?Difference b/w Hardware and software interrupt? 

         21.Do u have any question about TCS? 

          
         The result were told within few minutes. Now I was recommended for next round. Total 22 cleared technical round. 

         In HR round friendly environment was created.Tell the truth else u will be in trouble later. Be frank with them as if u are talking to ur friend. 

          1.Tell me about urself?
         2.Which place do u like most and why? 

         3.what do u know about TCS? 

         4.Why should we take u? 

         5.What is ur future planning? 

         6.why MBA?(As I told them that I want to do MBA) 

         And few more questions were asked. 

  

         Finally 22 was selected in TCS.No one was eliminated.This day was life’s most happiest day ie D day of my life. 

         In HR if ur communication skills r good need not to worry. 
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TCS PAPER ON 18th MARCH AT KOLKATA 
  

HI ……
FNDS I AM SENDING YOU SOME TIPS THAT WILL HELP YOU ALL TO CRACK THE CAMPUSS RECRUITMENT OF T.C.S 


THIS RECRUITMENT WERE TAKEN PLACE IN THREE ROUND::

1. APTITUDE TEST. 

2. TECHNICAL ROUND. 

3. MANAGEMENT AND HR ROUND.
Total time allotted for the test was 1:30 min 

I DON’T  REMEMBER THE EXACT QUESTIONS ON APTITUDE PAPERS BUT I AM GIVING  YOU ALL THE TYPE OF QUESTIONS. THE TECHNICAL AND THE HR QUESTIONS WHICH I HAVE GIVEN BELOW  WILL REALLY HELP YOU ALL TO ACHIEVE YOUR GOAL. 

  

APTITUDE PART:
IN THE APTITUDE PART THERE WERE THREE SECTIONS: 

1. VERBAL PART. 

2. QUANTITATIVE PART. 

3. LOGICAL REASONING
Section 1: VERBAL (32 questions) 
a. Synonym: 10 questions. 

b. Antonym: 10 questions. 

c. Fill in the blanks with appropriate sentences from the provided list.(6 QUESTIONS) 

d. Reading Comprehension.(6 QUESTIONS) 

  

For antonyms and synonyms consult GRE BARON. U will find all the words common from that which will help you to score a good mark as many student find this part to be one of the toughest part in the aptitude paper. 

  

Fill in the blanks consisted of one whole paragraph with some gaps. These gaps must be filled in with sentences given at the end of the questions. You will have to decide where each of these given sentences suites best within the paragraph. in fill in the blanks there was 6 questions, you have to read the passage carefully as the words given in the options are too much confusing . reading comprehension is similar to the old pattern of reading comprehension questions. Consult barrons GRE. here were three passages consists of 6 questions in all. 

  

Section 2: QUANTITATIVE(38 questions) 

Examples:

1.TO FIND OUT THE POSITION OF A PARTICULAR 2-D ARRAY ELEMENT WHILE  THE STARTING POSITION IS GIVEN AND THE BITES OCCUPIED.

2. A WORD WAS GIVEN AND BY INTERCHANGING THE POSITION OF THE LETTERS 1ST WITH THE 2ND AND SO ON…OF THAT WORDS, WHICH LETTER WILL BE IN A PARTICULAR POSITION.
3. THERE WAS A PROBLEM ON TEMPERATURE ….THAT THE TEMPERATURE OF A CITY FOLLOWS SOME EQUATION AND AFTER A DEFINITE PERIOD OF TIME YOU HAVE TO FIND OUT THE DIFFERENCE BETWEEN THE TEMPERATURE.
4. SOME POINTS ARE GIVEN ON X AND Y AXIS AND YOU REQUIRED TO FIND OUT THE NATURE OF THE CURVE PRODUCED WHEN IT WILL BE PLOTTED IN A GRAP
5. A PROBLEM ON MATCH THE LEFT AND RIGHT COLUMNS WITH SUITABLE MEANINGS.IT WAS AN EASY ONE,I TNK YOU ALL BE ABLE TO DO THAT.
6. FEW QUESTIONS ON VENN DIAGRAM.DO IT CAREFULLY.
7. DO CAREFULLY THE FOLLOWING CHAPTERS FROM R.S.AGARWAL WHICH WII HELP YOU TO SOLVED ALMOST ALL THE PROBLEMS IN THE QUANT PART, AT LEAST THE SOLVED EXAMPLES
A. NUMBERS.
B. AVERAGE.
C. AGES.
D. PERCENTAGE.
E. PROFIT AND LOSES.
F. RATIO AND PROPORTION.
G. TIME & WORK.
H. TIME & DISTANCE.
I. PROBLEMS ON TRAIN.
J. BOATS AND STREAM.
K. ALLIGATION OR MIXTURE.
L. SIMPLE INTEREST.
M. COMPOUND INTERSET.
N. LOGARITHM.
O. CLOCK.
P. PERMUTATION & COMBINATION.         
Q. PROBABILITY.
R. HEIGHT AND DISTANCE.
                
8.Second figure consisted of a bar graph and a pie chart with figures and labels and you will have to answer questions based on those graphs. GRE barrons quantitative.                     


Section 3: CRITICAL REASONING 

FOUR paragraphs and with 4 questions each. Each paragraph gives u a logical problem EXACTLY similar to the OLD GRE logical reasoning problems, like problems on sitting arrangement, order, etc. Solve barrons GRE logic games. 

THOSE WHO CLEAR APTITUDE SECTION OF THE TEST ARE ELIGIBLE FOR TECHNICAL ROUND.

  

THESE ARE SOME TECHNICAL QUESTIONS WHICH I HAVE FACED: 

IT WAS A ROUND OF 30 MIN……. 

1. INTRODUCE YOURSELF. 

2. DESCRIBE OOPS CONCEPT OF C++. 

3. WHAT IS INHERITENCE, POLYMORPHISM, ABSTRACTION, ENCAPSULATION. 

4. WHAT IS CLASS AND OBJECT. 

5. WHAT ARE THE ADVANTAGES OF C++ OVER C. 

6. WHAT IS POINTER,ARRAY,STRUCTURE, UNION . 

7. WHAT IS FUNCTION OVERLOADING. 

8. CONTROL OR LOOPING STRUCTURE OF C. 

9. WHAT IS LINK LIST AND DESCRIBE WITH SUITABLE EXAMPLE. 

10. WHAT IS STACK AND QUEUE. 

AS I  AM A STUDENT OF ECE SO HAVE TO FACED SOME QUESTIONS LIKE……. 

1.      WHAT IS COMMUNICATION….AND A BRIEF INTRODUCTION TO IT. 

2.      WHAT IS DIGITAL ELECTRONICS. 

3.      DESCRIBE THE LAN AND WAN CONNECTION OF NETWORKING. 

  

THAT’S ALL WAS THE TECHNICAL ROUND AND THE STUDENTS QUALIFIED ARE MOVED TO THE HR ROUND.

HR   QUESTIONS…… 
O BE PREPARE WITH ALL THE QUESTIONS WHICH IS GIVEN BELOW…… 

1. INTRODUCE YOURSELF 

2. WHAT DO U KNOW ABT T.C.S 

3. WHY DO YOU WANT TO JOIN T.C.S 

4. YOU  ARE A STUDENT FROM AN ELCTRONICS BACKGROUND SO WHY DO YOU WANT TO JOIN SOFTWARE COMPANIES OR IT INDUSTRY. 

5. WHAT ARE YOUR STRENGTH AND WEAKNESSESS WITH EXPLANATION. 

6. HOW YOU CAN OVERCOME YOUR WEAKNESSES. 

7. THERE WILL BE SOME QUESTIONS ON YOUR HOOBY. 

8. DO YOU HAVE ANY QUESTIONS TO ASK THE INTERVIEWER. 

THAT’S  ALL ABOUT THE HR ROUND…… 

SO..I DO HOPE THAT THIS ALL QUESTIONS WILL HELP YOU TO CRACK T.C.S. 

  

BEST OF LUCK TO ALL OF YOU HOPE TO SEE YOU ALL AT T.C.S   

WITH   LOVE & GOOD WISHES TO ALL,   

BARUN   SHA
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TCS PAPER ON 18th MARCH 

  

Hi friends, 

                              Myself ABHAY VIKRAM SINGH from  MALLABHUM INSTITUTE OF  TECHNOLOGY(BISHNUPUR),C.S.E 3rd year B-TECH got selected in T.C.S. Following is the  question which I faced during the interview: 

                              

PATTERN:

Ø    Total time 1hr 30min.. 

Ø    There were three sections: 

Ø    1 part consists of 10 synonyms ,10 antonyms passage completion and paragraph(total 32 ques.) 

Ø    2 part consists of quantitive appt.(total 38 ques.) 

Ø    3 part consists of logical reasoning(total 12 ques.)

APPTITUDE: 

The aptitude ques. was very easy.If u go through the previous 4-5 years papers,u can easily crack the aptitude.it was offline exam,so the cutoff was too low.There were no sectional cutoff.so needn’t to worry abt. apptitute test. 
 
There were three ques. from VENN DIAGRAM (very easy),and three from BAR CHART and PIE CHART(combined…be careful). And rest u”ll  get from the previous year. 

 
ENGLISH PORTION: 
10 SYNONYMS AND 10 ANTONYMS were given.If u go through the high frequency of G.R.E BARRONS(around 350 words) and go through the  exercise u can easily crcak this portion because they gave 3 easy passages and one sentence completion ques.containing 9 blanks,they were so easy. 
 
LOGICAL REASONING: 
This portion was very critical .Questions mainly from  G.R.E. BARRONS (12th edition) .If u go through the 12th ed. u can also crack this section very easily. 
 
TECHNICAL: 
Mam: introduce urself? 

Me:  gave introduction…. 

Mam:what is pointer,structure? 

Me: answered…. 

Mam:what is database?what is normalization?how    many types of normalization?explain any one of them?what is ER
defintion only). 

Mam:what is O.S? 

Me: answered…. 

Mam: what is semiconductor,zener diode,p-n type junction. 

Me: answered…but not all.
Mam: what is hexadecimal no.(defination only)? 

Find out the hexa no. of 49? 

Me: answered… 

Mam: truth  table of flip-flop and what is counter? 

Me: answered… 

  

And many more ques. were asked but not remember right now.They ask very easy question ,Just go through the basic of

all the subjects mainly C, C++, D.B.M.S, O.S, DATASTRUCTURE .The lady who was taking my tech. Interview was so nice.and kind.
 

H.R ROUND: 

There was a panel of three person. 
Ques: where r u from? 

Me:  VARANASI. 

Ques: why varanasi is famous for? 

Me: because of B.H.U, temples(Sankat Mochan,Kashi Viswanath Mandir……) 

They remind me that “banaras ka PAN is very much famous”. 

Ques: why u got very less marks in 10th and 12th standard? 

Me: gave reason…. 

Ques: wht is ur rank and position in ur class? 

Me: 1 and Topper of my class. 

Ques: what is the strength of ur class? Me: answered…. 

Those who were taking my H.R interview were so nice and jolly. 

 
ADVISE: 
v    Be cool 
v    Be confident 

v    Think more talk less 

v    Concentrate on ur tech. subjects 

v    Have patience 

v    Be Candid 
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TCS PAPER ON 18th MARCH 
HI! I am SOURISH BISWAS,student of MALLABHUM INSTITUTE OF TECHNOLOGY, Bishnupur, West Bengal, placed in TCS in 18th March,2007.It was my 2nd campus
And 1st on campus.1st one was “Satyam” and it was pull drive.i hd cleared dr written but eliminate in GD round.
Total candidate : 80+
Written cleared : 52:
Technical cleared : 22
HR cleared : 22
Round: WRITTEN:
There were 3 sections 
1.English
2.Aptitude
3.Critical reasoning
1. For English portion just go thrugh “Barron,s GRE(12th edition)”.there will be 10 Synonyms and 10 antonyms.1 passage of “fill in the blanks” type” and one passage Of like comprehention.For passages u don’t have 2 worry.It is very easy.after Completing all other things u should attain it.just read it minordly and give d answers. For synonyms and antonyms just go through previous questions.
2. For apti section just go through previous year questions.U don’t have 2 follow any other books.
3. For Critical Reasoning collect barron’s gre 12th edition and point out those section of critical reasoning which have only 4 question.U will get common either 2 of 3 passages or 3 out of 3 passages.
TECHNICAL:
1ST thing-don’t be afraid.bcz they r so frndly.as I am 4m CSE i hv said my most favorable subjects r C,Data Structure,DBMS.And I was also prepared 4 OS.And it was my good luck that my 1st question asked by d technical person was from OS.The question was as follows:
1. What is deadlock?
2. How can we prevent deadlock?
3. In ur view which method is better 2 prevent deadlock?
4. What is round-robin?
5. What is Binary search?
6. Other some basic questions 4m data structure.most easy.
7. What is recursion?
8. Program of Fibonacci series.
9. If in c there is no any option of multiplication how can we multiply 2 numbers?
10. Other some questions 4m c and some basic knowledge.
HR:
In the panel dr were a mam and a sir.they were so frndly.Our conversation was like….
MAM: hv u taken ur lunch?
SOURISH: no mam.
MAM: Why?we hv informed u.
SOURISH: ya,but we was not sure whn will u call us.
SIR: U r good in quiz?(as I hv written in tcs blue form dt I hv own quiz championship.)
SOURISH: ya sir.little bit.
SIR: Do u read nwz paper?
SOURISH: ya
MAM: Which pages do u read 1st?
SOURISH:1ST sports pages. then blab la bla…..
MAM: what do u know about TCS?
SOURISH: Said whatever I knew.
SIR: Hv u question 2 us?
SOURISH: Ya ,I hv heard dt TCS is in CMM 5 level.What is this CMM 5 level?
SIR N MAM: Explained with great care.

In 4:30 pm we hv got our final result.N beleave me frnds dt moment was d best moment of my life.I cant 4get dt moment in my life.Because I hd
been placed in asias no 1 company in my just 2nd campus n 1st on campus
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TCS PAPER ON 18th MARCH AT KOLKATA 
  

HI ……
FNDS I AM SENDING YOU SOME TIPS THAT WILL HELP YOU ALL TO CRACK THE CAMPUSS RECRUITMENT OF T.C.S 


THIS RECRUITMENT WERE TAKEN PLACE IN THREE ROUND::

1. APTITUDE TEST. 

2. TECHNICAL ROUND. 

3. MANAGEMENT AND HR ROUND.
Total time allotted for the test was 1:30 min 

I DON’T  REMEMBER THE EXACT QUESTIONS ON APTITUDE PAPERS BUT I AM GIVING  YOU ALL THE TYPE OF QUESTIONS. THE TECHNICAL AND THE HR QUESTIONS WHICH I HAVE GIVEN BELOW  WILL REALLY HELP YOU ALL TO ACHIEVE YOUR GOAL. 

  

APTITUDE PART:
IN THE APTITUDE PART THERE WERE THREE SECTIONS: 

1. VERBAL PART. 

2. QUANTITATIVE PART. 

3. LOGICAL REASONING
Section 1: VERBAL (32 questions) 
a. Synonym: 10 questions. 

b. Antonym: 10 questions. 

c. Fill in the blanks with appropriate sentences from the provided list.(6 QUESTIONS) 

d. Reading Comprehension.(6 QUESTIONS) 

  

For antonyms and synonyms consult GRE BARON. U will find all the words common from that which will help you to score a good mark as many student find this part to be one of the toughest part in the aptitude paper. 

  

Fill in the blanks consisted of one whole paragraph with some gaps. These gaps must be filled in with sentences given at the end of the questions. You will have to decide where each of these given sentences suites best within the paragraph. in fill in the blanks there was 6 questions, you have to read the passage carefully as the words given in the options are too much confusing . reading comprehension is similar to the old pattern of reading comprehension questions. Consult barrons GRE. here were three passages consists of 6 questions in all. 

  

Section 2: QUANTITATIVE(38 questions) 

Examples:

1.TO FIND OUT THE POSITION OF A PARTICULAR 2-D ARRAY ELEMENT WHILE  THE STARTING POSITION IS GIVEN AND THE BITES OCCUPIED.

2. A WORD WAS GIVEN AND BY INTERCHANGING THE POSITION OF THE LETTERS 1ST WITH THE 2ND AND SO ON…OF THAT WORDS, WHICH LETTER WILL BE IN A PARTICULAR POSITION.
3. THERE WAS A PROBLEM ON TEMPERATURE ….THAT THE TEMPERATURE OF A CITY FOLLOWS SOME EQUATION AND AFTER A DEFINITE PERIOD OF TIME YOU HAVE TO FIND OUT THE DIFFERENCE BETWEEN THE TEMPERATURE.
4. SOME POINTS ARE GIVEN ON X AND Y AXIS AND YOU REQUIRED TO FIND OUT THE NATURE OF THE CURVE PRODUCED WHEN IT WILL BE PLOTTED IN A GRAP
5. A PROBLEM ON MATCH THE LEFT AND RIGHT COLUMNS WITH SUITABLE MEANINGS.IT WAS AN EASY ONE,I TNK YOU ALL BE ABLE TO DO THAT.
6. FEW QUESTIONS ON VENN DIAGRAM.DO IT CAREFULLY.
7. DO CAREFULLY THE FOLLOWING CHAPTERS FROM R.S.AGARWAL WHICH WII HELP YOU TO SOLVED ALMOST ALL THE PROBLEMS IN THE QUANT PART, AT LEAST THE SOLVED EXAMPLES
A. NUMBERS.
B. AVERAGE.
C. AGES.
D. PERCENTAGE.
E. PROFIT AND LOSES.
F. RATIO AND PROPORTION.
G. TIME & WORK.
H. TIME & DISTANCE.
I. PROBLEMS ON TRAIN.
J. BOATS AND STREAM.
K. ALLIGATION OR MIXTURE.
L. SIMPLE INTEREST.
M. COMPOUND INTERSET.
N. LOGARITHM.
O. CLOCK.
P. PERMUTATION & COMBINATION.         
Q. PROBABILITY.
R. HEIGHT AND DISTANCE.
                
8.Second figure consisted of a bar graph and a pie chart with figures and labels and you will have to answer questions based on those graphs. GRE barrons quantitative.                     


Section 3: CRITICAL REASONING 

FOUR paragraphs and with 4 questions each. Each paragraph gives u a logical problem EXACTLY similar to the OLD GRE logical reasoning problems, like problems on sitting arrangement, order, etc. Solve barrons GRE logic games. 

THOSE WHO CLEAR APTITUDE SECTION OF THE TEST ARE ELIGIBLE FOR TECHNICAL ROUND.

  

THESE ARE SOME TECHNICAL QUESTIONS WHICH I HAVE FACED: 

IT WAS A ROUND OF 30 MIN……. 

1. INTRODUCE YOURSELF. 

2. DESCRIBE OOPS CONCEPT OF C++. 

3. WHAT IS INHERITENCE, POLYMORPHISM, ABSTRACTION, ENCAPSULATION. 

4. WHAT IS CLASS AND OBJECT. 

5. WHAT ARE THE ADVANTAGES OF C++ OVER C. 

6. WHAT IS POINTER,ARRAY,STRUCTURE, UNION . 

7. WHAT IS FUNCTION OVERLOADING. 

8. CONTROL OR LOOPING STRUCTURE OF C. 

9. WHAT IS LINK LIST AND DESCRIBE WITH SUITABLE EXAMPLE. 

10. WHAT IS STACK AND QUEUE. 

AS I  AM A STUDENT OF ECE SO HAVE TO FACED SOME QUESTIONS LIKE……. 

1.      WHAT IS COMMUNICATION….AND A BRIEF INTRODUCTION TO IT. 

2.      WHAT IS DIGITAL ELECTRONICS. 

3.      DESCRIBE THE LAN AND WAN CONNECTION OF NETWORKING. 

  

THAT’S ALL WAS THE TECHNICAL ROUND AND THE STUDENTS QUALIFIED ARE MOVED TO THE HR ROUND.

HR   QUESTIONS…… 
O BE PREPARE WITH ALL THE QUESTIONS WHICH IS GIVEN BELOW…… 

1. INTRODUCE YOURSELF 

2. WHAT DO U KNOW ABT T.C.S 

3. WHY DO YOU WANT TO JOIN T.C.S 

4. YOU  ARE A STUDENT FROM AN ELCTRONICS BACKGROUND SO WHY DO YOU WANT TO JOIN SOFTWARE COMPANIES OR IT INDUSTRY. 

5. WHAT ARE YOUR STRENGTH AND WEAKNESSESS WITH EXPLANATION. 

6. HOW YOU CAN OVERCOME YOUR WEAKNESSES. 

7. THERE WILL BE SOME QUESTIONS ON YOUR HOOBY. 

8. DO YOU HAVE ANY QUESTIONS TO ASK THE INTERVIEWER. 

THAT’S  ALL ABOUT THE HR ROUND…… 

SO..I DO HOPE THAT THIS ALL QUESTIONS WILL HELP YOU TO CRACK T.C.S. 

  

BEST OF LUCK TO ALL OF YOU HOPE TO SEE YOU ALL AT T.C.S   

WITH   LOVE & GOOD WISHES TO ALL,   

BARUN   SHA
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TCS PAPER ON 17th MARCH AT GWALIOR   

Hi, I’m sourabh  shrivas fm M.P.C.T GWALIOR (M.P.) 
TCS visit at  my college on the 16th and 17th of March for campus placement. I am happy to say  U all now I’m a part of   TCS ………. 

1) VERBAL         
2) APTITUDE     
3) CRITICAL REASONING

I. In verebal section there were 10 SYNONYMS, 10 ANTONYMS. Also, A long para was given with some blanks n options were given to fill the blanks (abt 5 blanks) . 
Reference …. everything fm BARRONS 12 TH   EDITION. 

II. all question fm previous paper.(only data is change). If u  solve ques . frm old papers of TCS u can do this section with ease. 
Question frm….. 

Quant section 
Work, data interpretation, longitude, series, coding, percentage , odd things ( mean chose different thing fm four or five option),bit register (example below….)..,a set of given matrices find singular matrices. on venn diagrams n bar graph, add calc for an array element, finding of orthogonal pairs. total length of pipe (example…below).(see old paper),equation of 4 lines r given and find out 2 perpendicular line. 

QUESTIONS FM MY PAPER…..(quant…) 
1. FIND THE MISSING NO. IN  SERIES ?
   9   10  11  13  15  ?  21   28 

2  LARGEST NO. THAT CAN BE STORED IN A 9-BIT COMPUTER.
(A) 509 (B) 513 (C) 511 (D) 409 (E) 459 
ANS…509 

6 BIT ------61 
7 BIT-----127 
8 BIT-----253 
9 BIT----- 509 

SIMPLE    FIND POWER OF 2 AND GET LARGEST   PRIME NO. LIKE IN CASE OF 6 BIT THEN 2^6 IS 64. THE   GRETEST PRIME   NUMBER LEES THEN 64 OK 

3. THAN ANS IS 61. THE SIDES ARE GIVEN. WHICH TRIANGLE IS NOT POSSIBLE:
(A) (2,3,6)     (B) (3,2,4)     (C) (3,4,5)    (D) (3,3,3)     (E) (5,3,5) 

4. (Momentum*Velocity)/(Acceleration * distance) 
a) Newton     b) Mass                 c) Force    

(THIS TYPE OF QUS REVICE FH PHYSICS ENTER LEVEL ) 

5 Four 2X2 matrices were given. We’ve to find out which of them is a singular matrix? (DETERMINANT IS ZERO)
A       B 
C      D  
THEN AD – CB =0               

6. Flight takes off at 4 A.M from North-East direction and travels for 7 hours to reach the destination in the North-West direction. Some  latitude and longitude of source and destination given. Find the local arrival time of destination? (I don’t know how to find it) 

7. In the word CHAMPIONSHIP, if the first and second, third and forth, fifth and sixth, etc words are interchanged, what would be the 8th letter from right?    (Ans: ‘I’) 

8.In a two-dimensional array, X (7, 9), with each element occupying 8 bytes of memory, with the address of the first element X (1, 1)=3000; find the starting address of  the element at X (5,8).  

SEE DATA STRUCTURE SIMPLE FURMULA BASED….. 

  

9. A sequence of letters is given. We’ve to find out how many V’s are there under the condition that, S should be followed by V and should not be followed by F…… V,S,F,T,W,E,L,B,V,S,L,L,K,S,M,S,V,F,L,S,D,I,……… Like that. 

10.If A, B, C are the mechanisms used separately to reduce the wastage of fuel by 30%, 40%,     10%.What will be the fuel economy if they were used combine? 
1.68.4          2.62.2         3.58         4.27              
(Ans- 62.2)          sol:  (70/100)*(60/100)*(90/100)*100=37.8   Eco = (100-37.8) =62.2 

11. In Madras temperature at noon varies according to t^2/2 + 4t + 12 (Read is as: t square /2 + 4t +12), where t is elapsed time. Find how much percentage of temperature is increased (or decreased) between 5pm and 8pm.(HINT: substitute & subtract values from 5 to 8) 

12 The size of a program is N. And the memory occupied by the program is given by M = square root of 100N. If the size of the program is increased by 1% then how much more memory is required now? 

          a) 8.0%        b) 2.5%                 c) 0.5%       d) 2.4%                  e)1.7%   

ans .5% 

ROOT OF OF DIFF OF ROOT OF 100 nd 101. 

13 A power unit is there by the bank of a river of 900 meters. A cable is made from power unit to power a plant opposite to that of the river of 2000mts. The cost of the cable below water is Rs. 5/- per meter and cost of cable on the bank is Rs. 4/- per meter. Then find out the amount to be invested to connect those two stations. 

14.Which shape will be obtained by using the following values for X and Y 
X     0             10      100    1000  9999  

Y   0.00001     1.02   1.72   3.00   4.72 

(HINT  DRAW GRAPH) 

Ans: Y= log10(X) 

  

15. What is the value of the following expression    M(373,5)+T(7.7)+R(4.4)-T(3.6) 

      Where M- MODULAS R- ROUNDOFF T- TRUNCATE                                       
(Ans : 11)       Sol: 3 + 7+ 4 - 3 ==11 

  

16 What is the value of the expression         % # % (6) + # % # (6) 

Where % means DOUBLING and # means RECIPROCAL    

      

17 Match the following (this type of question but not same) 

                   A                                                       B 

          1. Mammal, cow                        --->       a.   A type of
          2. Snake   reptile                         --->       b.   A part of
          3. Roof - Building                       --->       c.   Not a type of
          4. Mushroom - Vegetables          --->       d.   A superset of 

            (Ans: 1-d, 2-c, 3-b, 4-a) 

18.If G(0) = -1 G(1)= 1 and G(N)=G(N-1) - G(N-2) then what is the value  of G(6)?(Ans: -3)    
Sol: g(2)=g(1)-g(0) ==1-(-1)=2, similarly g(3),…g(6); 

ONCE DO R.S.AGGARWAL (QUANT) (arthimetic section) 

GOOD FOR U. . 

CRITICAL REASONING 

  

BARRONS 12TH EDI…..(4 CRITICAL RESONING…) 

( IN MY PAPER….. 

1. FOR A MOTORIST THER R THREE WAY……(MODEL PAPER 1 QUE 1 TO 4) 

2.EIGTH VERSITY BASEBALL PLAYERS (G H .   ( MODEL PAPER 2 QUE 1 TO 4) 

3. THIS NOT FM GRE……. BUT SIMPLE..(STH BLUD RELATION……TYPE  

Those who qualified in the written were grilled by a Panel of 2 individuals frm TCS. Tech after qualify this I call 4  Hr interview.They just test ur COMMUNICATION SKILLS, KNOWLEDGE OF C/C++ or any other prog. language and ur CONFIDENCE LEVEl. (impotant thing)Ques. based on ur area of interest r asked. A lot if ques. r asked on ur HOBBIES, STRENGTHS n WEAKNESSES, CARRIER OBJECTIVE, AIM IN LIFE . A ques. tht's frequently asked is: TELL ME SOMETHING ABT URSELF ( prepare this 1 well) They also ask u abt ur subjects n grill u a lot on this. 

Qus. Introduced u sefl which not mention in u r cv. 

Ans ….. 

Qus. on hobbies. 

Qus Why tcs hire u ? 

Ans  …… 

Qus  where u found u r self after 5 year? 

Ans... 

Qus. But why tcs by not infosys. 

Ans…… 

Simple abt my self etc…. 

Some discution 

AND finaly I’m got selected
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TCS INTERVIEW ON 16th MARCH AT INDORE
 

 

Hi friends this is RUCHIKA SAREEN of III year  Information Technolgy branch I hv been qualified my OnlineTest on 14 th mar 07 

To clear the written test just go through
1.Gre Barrons(for verbal part)
2.Previous Papers(for aptitude part)
3.GRE Barron’s 12th edition (for reasoning part)
My Technical part and HR was on 16th 

Technical Round 

1. How was ur day 

2. what are interfaces can u inherit it ( ans no u cant inherit it can only implemented) 

3. difference b/w abstract class and interface 

4. if u declare 3 methods in interface n ven u implement it thn those class(which implement interface) defines only 2 methods then ny error occur or not.(isaid yes coz u hv not define d 3rd one) 

5. what r arrays , what is d difference b/n structure n arrays 

6. prog of factorial 

7. diff b/n c n c++ 

8. what is normalization he gave me 2 tables n asked o/p of some queries. 

9. what r keys n how they differ frm each other ,if u want to delete ny record thn is it enough to del its primary key .(I said yes describe them vel) 

10. they asked me that u hv written willingness to contribute in development of environment what is that 

11. what is DBMS,Data Structure. 

12. is multiple inheritance possible in java (i said no) thn they asked what is its alternative (actually u cant say interface is d alternative but u hv to say) 

13. do you have any question. 

My technical was around for 25  min then I am waiting for HR round  they called me
After 10 min thn I submit n form thn waiting for my chance
HR Round
     1  How r u feeling.
     2  They asked me abt my city its qualities n pts where  my city has to work over it
     3  What r ur strong pts give me some examples
     4  What r ur weaknesses n how u overcome it ,if they  come across ur work in future Then what ull do.
      5.  diff b/n c n c++
      6.  explain what is database  from very basic.
      7.  what r different type of databases give example of each
      8.  what r ur last sem subjects
      9.  which subject u like and which one u dislike from 1st sem why?
      10. They asked me abt my hobby one of them is decorating home so he asked me that hu u ever decorate ur relative or ur friend home n how (ans-I said that I hv decorated my relative home but I never get d chance to decorate my  friend’s home so if I get it then ill definitely do )
      11. they asked me give me  5 names of ur friends u want to get recruit in TCS. (I said firstly Ruchika Sareen ) Thn they told me no give ur friends name then I gave 5 names but I said tht sir there must be my name before all of them ) then he said what r d qualities which u differ frm them 
12. why c (language) called c
            13. what is index
            14 why u choose TCS
            15 what u can do for the company
            16 they ask me abt my family baground.
             17. Do you know abt Bond ,any problem from that
             18. After selection we’ll sent u in any part of India ,will u go
             19. after selection u will face a medical test r u prepared for it
              20  do u have any backlog coz it effect ur selection.
              21 finally they asked me do u have any question
this round was abt  30-35 min
Next day (on 17th)I got my result n im SELECTED IN ASIA’S NO 1 COMPANY TCS
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TCS PAPER ON 16th MARCH 
 

hi friends,
tcs on campus recuitment was held in our college.total 220 students appeared 4 the exam.finally 68 students got selected.im sending u the latest tcs paper which i got.as usual, the paper comprised of 3 sections(no -ive marking ,no sectional cutoff):

I Verbal Reasoning(20 min) :10 antonyms, 10 synonyms, 2 sentence completion passages(each containing abt 5 que)
II Quantitative Aptitude(40 min):38 questions
III Logical Reasoning(30 min): 3 passages(4 que each)
  

Verbal Reasoning:
Dont rely on Barrons word list 4 this section.except 4 two-three words none came frm barrons.u need 2 practice more words frm books like norman lewis etc.most of the words were new 2 me. as 4 sentence completion 2 passages were given.each passage had fill in the blank questions.8-9 option sentences were given 4 these blanks.i dont remember those passages.one was like  dust in the office......destroy machines like fax,printers....some steps must b taken.....findings must b compiled in a report .......must b submitted 2 .......
    

Quantitative Aptitude:
this was the easiest & the most scoring of all sections.it was a piece of cake.all questions were repeated frm previous years papers.so practice them thoroughly.attempt all the questions since there was no -ive marking.i dont remember the exact sequence & the values given here may differ but the que were like:

1.a series given,insert missing no:8 9 10 12 _ 21 24 (sorry i dont remember the series exactly)

2. the largest prime no which can b stored in 7 bit register?
 

3.Find the value of @@+25-++@16, where @ denotes "square" and + denotes "square root".


4.Find the result of the following expression if, M denotes modulus operation, R denotes round-off, T denotes truncation: M(373,5)+R(3.4)+T(7.7)+R(5.8)(exact values may differ)


5.  find units: (Momentum*Velocity)/(Acceleration * distance ) 

6.Select the odd one out. a. Java   b. Lisp   c. Smalltalk   d. Eiffel. 

 

7.which of these is power of 3?

8.A, B and C are 8 bit no’s. They are as follows: 
A             1             1             0             1             1             0              1             1 
B             0             1             1             1             1             0              1             0 
C             0             1             1             0             1             1              0             1 
Find ( (A-B) u  C )=? 
9.In which of the system, decimal number 384 is equal to 1234? 

10. Number of faces, vertices and edges of a cube? 

 

11 In a two-dimensional array, X(9,7), with each element occupying 4 bytes of memory, with the address of the first element X(1,1) is 3000, find the address of X(8,5). 

 

12. A power unit is there by the bank of the river of 750 meters width. A cable is made from power unit to power a plant opposite to that of the river and 1500mts away from the power unit. The cost of the cable below water is Rs. 15/- per meter and cost of cable on the bank is Rs.12/- per meter. Find the total of laying the cable. 

 

13. The size of a program is N. And the memory occupied by the program is given   by M = square root of 100N. If the size of the program is increased by 1% then how much memory now occupied? 

 

14. In Madras , temperature at noon varies according to -t^2/2 + 8t + 3, where t is elapsed time. Find how much temperature more or less in 4pm to 9pm . 

 

15.The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? 

 

16 If A, B and C are the mechanisms used separately to reduce the wastage of fuel by 30%, 20% and 10%. What will be the fuel economy if they were used combined. 

 

17.A Flght takes off at 2 A.M from northeast direction and travels for 11 hours to reach the destination which is in north west direction. Given the latitude and longitude of source and destination. Find the local time of destination when the flight reaches there? 

 

18.Given the length of the 3 sides of a triangle. Find the one that is impossible? 

 

19. Find the singularity matrix from a given set of matrices
 

20. Which of the following set of numbers has the highest Standard deviation? 
1,0,1,0,1,0 

-1,-1,-1,-1,-1,-1 

1,1,1,1,1,1 

1,1,0,-1,0,-1 

 

21. In the word ----------(dont remember the word), if the first and second, third and forth, forth and fifth, fifth and sixth words are interchanged up to the last letter, what would be the ....th letter from right? 

 

22.Match the following: 

a. ------     -> atype of 

b.........     ->  a superset of 

c. .....         -> A part of 

d.......         -> Not a 

 

23.A & B do a work in _ days  & _ days alone respectively.if A,B,C do work together in _ days find out in how many days C alone completes the work?
 

24.select the odd one out: some database applications given among which one was not a database app.
 

25. Coding -decoding:if ........... is written as........... how is........ written as?
 

26. G(0)=-1, G(1)=1, G(N)=G(N-1) + G(N-2),  G(5)= ? 

 

27.A graph given.which of the equations given satisfy it?
2-3que based on venn diagram consisting of people speaking 3 languages.
2-3 que based on data interpretation :a bar chart given on population statistics.by mistake they repeated 2 consecutive que as they were!
try 2 do as much que as u can bcoz u can make up 4 the loss of que in lr & verbal.dont cram answer 4 any que  bcoz they may change the values.
  

Logical Reasoning:
3 passages were given each comprising of 4 que.try 2 do atleast 1 que correctly instead of going 4 guesswork.2 of them were frm barrons.
1. A group of ministers and prime minister sitting .The position of Ministers from 

the Prime minister based on their ranks. A group of statements to identify their positions and portfolios. Questions based on them. 

2.republican & democrats names given.some r defense expert,economist......que based on a committee 2  b formed on given conditions.
3.another passage which i dont remmebe   

soon the results were announced & i got thru.interviews were scheduled 4 the next day.
  

Technical interview:
it was more like a hr interview.a panel consisting of a lady & a gentleman took my interview.i entered wit a smile & wished them good evening.
man: so u  live in....
i: yes sir
man: how hav u come here?
i: by bus,sir,the local city bus
lady: u dont come by college bus
i: no mam
man: do u like ur college?
i: yes sir,i think it has all the state of art facilities.
man: u mean its the best in the world!
i: not the best but its good enough.
man: u play kabbadi(i mentioned it as an extracurricular activity in my cv)
i: yes sir
man: hav u got physique required 4 it?
i: yes sir
man: (he wrote a 2x2 matrix)wot is its value?
i: its determinant is 0.
man tell me value of matrix.
i: a matrix has no value.
man: good
(they asked me abt my fav subjects back in school times.i answered th8 maths was my fav subject they asked basic questions on  trigonometry.i answered all of them.) (next they asked que related 2 operating system :wot is an os?wot r its services?wot role does it play wen u turn on the power supply? a few que realted 2 my project.i answered most of them satisfactorily) soon the results were announced & i qualified 4 the hr interview.was required 2 fill a form.
  

HR interview:
my hr & mr interview were taken simultaneously. i waited for a long time but my name wasnt announced.finally,after waiting for 5 hrs,they called me at 11:45 pm. i was the last candidate 2 b interviewed!there were 2 interviewers again but this time there was a lady in her 30's & the most seniors of all panel members: a person well in his late 50's.again i entered wit a smile & they 2 smiled.i wished  them both a very  good evening.

man: how was ur tech interview?

i: very nice,sir
lady: describe ur educational & family background.
i: i did my scoolimg frm ...... secured......come frm a middle class family blah blah blah
man: why shud v hire u?
i: sir,i hav got within me wot it takes 2 b a TCSer.i hav perseverance,commitment 2 work hard.possess quick learning ability.given an opportunity 2 work in tcs i'll put up my blood & sweat 2 work 4 the betterment of the company.
lady: mention ur strenghts & weakness
i: as i told,my strengths r perseverance:i never give up,wen i hav set up my eyes on a goal i can take up all pains 2 achieve it,i hav committment 2wards my work .my weakness is th8 im an emotional person.
lady: but being emotional is a good quality.
i: yes but i sometimes overdo it.for  instance,i sumtimes offer a beggar some money & realise later th8 he doesnt deserve it,he shud hav worked 4 it.
lady: which websites do u visit?(i mentioned surfing as 1 of my hobby)
i: i mostly visit websites 4  the sake of collecting any sort of info.these include google,wikipedia. i also surf some sites related 2 games.
lady: wot is the special feature of wiki which other online dictionaries dont offer?
i: u can actually edit the info on wiki & submit ur opinion abt any topic.ur article 'll b read by the proof readers & if found correct 'll b uploaded.
lady: do u know  abt service agreement which u'll hav  2 sign if u got selected?
i: (told her th8 i know)
lady: r u ready 2 work anywhere in the country?
i: yes i love 2 go places.
lady: what'll u do if u r rejected?
i: 'll c the areas where i lagged,replan my strategies & bounce back.
man: which companies 'll u appear 4 ?
i: if the requirements of the companies meet my capabilities i'll appear 4 such companies.
lady: wot'll b ur reaction wen u got selected?
i :i shall b very happy.will inform my parents they 2 will b happy & will give me their blessings 2 succeed even more in life.
man: u r the last candidate 2 get interviewed, ur thoughts on it?
i: sir,i'll put it up in a single sentence "reward awaits 4 the 1 who waits"
(this brought a millon $ smile on both persons faces.)
lady: u hav been waiting 4 ur interviews since this morning,wot were the thoughts goin on inside ur mind?
i: no pains no gains
lady: (she smiled even more on this quick witted answer)ok u may go.
  

after a few minutes results were annnounced & i was finally selected! i think the biggest reason 4 my successs was my positive attitude & my infectious smile.i was smiling most of the time during my interview
All the best!
  

By,
Neo
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If log 0.317=0.3332 and log 0.318=0.3364 then find log 0.319
  

log 0.317=0.3332 and log 0.318=0.3364
then
log 0.319=log0.318+(log0.318-log0.317)
0.3396
…………………
A box of 150 packets consists of 1kg packets and 2kg packets. Total weight of box is 264kg. How many 2kg packets are there
  

x= 2 kg Packs
y= 1 kg packs
  

x + y = 150     .......... Eqn 1
2x + y = 264   .......... Eqn 2
  

solve the Simultaneous equation;
  

x = 114
  

using Eqn 1,
  

114 + y = 150
so, y = 36
  

ANS :  Number of 2 kg Packs = 114.
………………………..
My flight takes of at 2am from a place at 18N 10E and landed 10 Hrs later at a place with coordinates 36N70W. What is the local time when my plane landed?
6:00 am b) 6:40am c) 7:40 d) 7:00 e) 8:00  

The Answer is 6:40 AM
  

The destination place is 80 degree west to the starting place. Hence the time difference between these two places is 5 hour 20 min. (=24hr*80/360).
  

When the flight landed, the time at the starting place is 12 noon (2 AM + 10 hours).
Hence, the time at the destination place is 12 noon - 5:20 hours = 6: 40 AM

  

A plane moves from 9˚N40˚E to 9˚N40˚W. If the plane starts at 10 am and takes 8 hours to reach the destination, find the local arrival time.
Since it is moving from east to west longitide we need to add both

ie,40+40=80

multiply the ans by 4

  

=>80*4=320min
convert this min to hours ie, 5hrs 33min

It takes 8hrs totally . So 8-5hr 30 min=2hr 30min

So the ans is 10am+2hr 30 min

=>ans is 12:30 it will reach

 

The size of the bucket is N kb. The bucket fills at the rate of 0.1 kb per millisecond. A programmer sends a program to receiver. There it waits for 10 milliseconds. And response will be back to programmer in 20 milliseconds. How much time the program takes to get a response back to the programmer, after it is sent? Please tell me the answer with explanation. Very urgent.
  

see it doesn't matter that wat the time is being taken to fill the bucket.after reaching program it waits there for 10ms and back to the programmer in 20 ms.then total time to get the response is 20ms +10 ms=30ms...it's so simple....
……………….
A file is transferred from one location to another in ‘buckets’. The size of the bucket is 10 kilobytes. Eh bucket gets filled at the rate of 0.0001 kilobytes per millisecond. The transmission time from sender to receiver is 10 milliseconds per bucket. After the receipt of the bucket the receiver sends an acknowledgement that reaches sender in 100 milliseconds. Assuming no error during transmission, write a formula to calculate the time taken in seconds to successfully complete the transfer of a file of size N kilobytes.
(n/1000)*(n/10)*10+(n/100)....as i hv calculated...~~!not 100% sure
………………..
A fisherman's day is rated as good if he catches 9 fishes ,fair if 7 fishes and bad if 5 fishes .He catches 53 fishes in a week n had all good,faiur n bad days in the week.So how many good ,fair n bad days did the fisher man had in the week
Ans:4 good,1 fair n 2 bad days
Go to river catch fish
  

4*9=36
7*1=7
2*5=10
36+7+10=53...
  

take what is given 53
                 
good days means --- 9 fishes so 53/9=4(remainder=17)  if u assume 5 then there is no chance for bad days.
fair days means ----- 7 fishes so remaining 17 --- 17/7=1(remainder=10) if u assume 2 then there is no chance for bad days.
bad days means -------5 fishes so remaining 10---10/5=2days.
   Ans: 4 good ,1 fair, 2bad. ==== total 7 days.
  

x+y+z=7--------- eq1
9*x+7*y+5*z=53 -------eq2
multiply eq 1 by 9,
9*x+9*y+9*z=35 -------------eq3
from eq2 and eq3
2*y+4*z=10-----eq4
since all x,y and z are integer i sud put a integer value of y such that z sud be integer in eq 4 .....and ther will be two value y=1 or 3 then z = 2 or 1 from eq 4
for first  y=1,z=2 then from eq1 x= 4
so 9*4+1*7+2*5=53.... satisfied
now for second y=3 z=1 then from eq1 x=3
so 9*3+3*7+1*5=53 ......satisfied
so finally there are two solution of this question
(x,y,z)=(4,1,2) and (3,3,1)...
……………..
Y catches 5 times more fishes than X. If total number of fishes caught by X and Y is 42, then number of fishes caught by X?
et no. of fish x catches=p
no. caught by y =r
r=5p.
r+p=42
then p=7,r=35
……………………..
Three companies are working independently and receiving the savings 20%, 30%, 40%. If the companies work combinely, what will be their net savings?
If Anybody know the ans pls give the ans with explanation
  

suppose total income is 100
so amount x is getting is 80
y is 70
z =60
total=210
but total money is 300
300-210=90
so they are getting 90 rs less
90 is 30% of 300 so they r getting 30% discount
…………………….
The ratio of incomes of C and D is 3:4.the ratio of their expenditures is 4:5.Find the ratio of their savings if the savings of C is one fourths of his income?
incomes:3:4
expenditures:4:5
3x-4y=1/4(3x)
12x-16y=3x
9x=16y
y=9x/16
(3x-4(9x/16))/((4x-5(9x/16)))
ans:12/19
………
If G(0) = -1 G(1)= 1 and G(N)=G(N-1) - G(N-2) then what is the value of G(6)?
ans: -1
bcoz g(2)=g(1)-g(0)=1+1=2
g(3)=1
g(4)=-1
g(5)=-2
g(6)=-1
…………………..
If A can copy 50 pages in 10 hours and A and B together can copy 70 pages in 10 hours, how much time does B takes to copy 26 pages?
  

A can copy 50 pages in 10 hrs.
A can copy 5 pages in 1hr.(50/10)
now A & B can copy 70 pages in 10hrs.
thus, B can copy 90 pages in 10 hrs.[eqn. is (50+x)/2=70, where x--> no. of pages B can copy in 10 hrs.]
so, B can copy 9 pages in 1hr.
therefore, to copy 26 pages B will need almost 3hrs.
since in 3hrs B can copy 27 pages.
…………………
what's the answer for that :
A, B and C are 8 bit no's. They are as follows:
A -> 1 1 0 0 0 1 0 1
B -> 0 0 1 1 0 0 1 1
C -> 0 0 1 1 1 0 1 0 ( - =minus, u=union)
Find ((A - C) u B) =?
We have to find (A-C) U B
To find A-C, We will find 2's compliment of C and them add it with A,
That will give us (A-C)
2's compliment of C=1's compliment of C+1
=11000101+1=11000110
A-C=11000101+11000110
=10001001
Now (A-C) U B is .OR. logic operation on (A-C) and B
10001001 .OR . 00110011
The answer is = 10111011,
Whose decimal equivalent is 187.
…………
One circular array is given(means memory allocation tales place in circular fashion) diamension(9X7) and sarting add. is 3000,What is the address od (2,3)........
  

it's a 9x7 int array so it reqiure a 126 bytes for storing.b'ze integer value need  2 byes of memory allocation .
and starting add is 3000

  

so starting add of 2x3 will be 3012.
………….
In a two-dimensional array, X (9, 7), with each element occupying 4 bytes of memory, with the address of the first element X (1, 1) is 3000, find the address of X (8, 5).
initial x (1,1) = 3000 u hav to find from x(8,1)so u have x(1,1),x(1,2) ... x(7,7) = so u have totally 7 * 7 = 49 elementsu need to find for x(8,5) ? here we have 5 elements each element have 4 bytes : (49 + 5 -1) * 4 = 212 -----( -1 is to deduct the 1 element ) 3000 + 212 = 3212
……………
Which of the following is power of 3 a) 2345 b) 9875 c) 6504 d) 9833
…………..
The size of a program is N. And the memory
occupied by the program is given by M = square root of
100N. If the size of the program is increased by 1%
then how much memory now occupied ?
M=sqrt(100N) 

  

N is increased by 1% 

  

therefore new value of N=N + (N/100) 

  

                =101N/100 

  

M=sqrt(100 * (101N/100) ) 

  

Hence ,we get 

  

M=sqrt(101 *  N)
……….
1)SCOOTER --------- AUTOMOBILE A. A PART OF
2.OXYGEN----------- WATER B. A Type of
3.SHOP STAFF------- FITTERS C. NOT A TYPE OF
4. BUG -------------REPTILE D. A SUPERSET OF
1)B
2)A
3)D
4)C
………….
A bus started from bustand at 8.00a m and after 30 min staying at destination, it returned back to the bustand. the destination is 27 miles from the bustand. the speed of the bus 50 percent fast speed.at what time it retur4ns to the bustand hi friend
this is the step by step solution:
a bus cover 27 mile with 18 mph in =27/18= 1 hour 30 min. and it wait at stand =30 min.
affter this speed of return increase by 50% so 50%of 18 mph=9mph
      
Total speed of returnig=18+9=27
Then in return it take 27/27=1 hour
then total time in joureny=1+1:30+00:30 =3 hour
so it will  come at 8+3 hour=11 a.m.
So Ans==11 a.m

…………….
4.In two dimensional array X(7,9) each element occupies 2 bytes of memory.If the address of first element X(1,1)is 1258 then what will be the address of the element X(5,8) ?
here, the address of first element x[1][1] is 1258 and also 2 byte of memory is given.now, we have to solve the address of element x[5][8], therefore, 1258+ 5*8*2 = 1258+80 = 1338 so the answer is 1338.
……………..
The temperature at Mumbai is given by the function: -t2/6+4t+12 where t is the elapsed time since midnight. What is the percentage rise (or fall) in temperature between 5.00PM and 8.00PM?
  

Low temperature at the night in a city is 1/3 more than 1/2 high as higher temperature in a day.  Sum of the low temperature and highest temp. is 100 degrees. Then what is the low temp?
Let highest temp be x
so low temp=1/3 of x of 1/2 of x plus x/2 i.e. x/6+x/2
total temp=x+x/6+x/2=100
therefore, x=60
Lowest temp is 40
…………….
In Madras, temperature at noon varies
according to -t^2/2 + 8t + 3, where t is elapsed time. Find how much temperature more or less in 4pm to 9pm. Ans. At 9pm 7.5 more
In equestion  first put t=9,
we will get 34.5...........................(1)
now put t=4,
we will get 27..............................(2)
so ans=34.5-27
          =7.5
…………….
A person had to multiply two numbers. Instead of multiplying by 35, he multiplied by 53and the product went up by 540. What was the raised product?
a) 780
b) 1040
c) 1590
d) 1720            x*53-x*35=540=> x=30 therefore, 53*30=1590 Ans
………..
How many positive integer solutions does the equation 2x+3y = 100 have?
a) 50
b) 33
c) 16
d) 35
there is a simple way to answer this kind of Q's given 2x+3y=100, take l.c.m of 'x' coeff and 'y' coeff i.e. l.c.m of 2,3 ==6then divide 100 with 6 , which turns out 16 hence answer is 16short cut formula--- constant / (l.cm of x coeff and y coeff)
…………….
The total expense of a boarding house are partly fixed and partly variable with the number of boarders. The charge is Rs.70 per head when there are 25 boarders and Rs.60 when there are 50 boarders. Find the charge per head when there are 100 boarders.
a) 65
b) 55
c) 50
d) 45
where a = fixed cost and
k = variable cost and n = number of boarders
total cost when 25 boarders c = 25*70 = 1750 i.e. 1750 = a + 25k
total cost when 50 boarders c = 50*60 = 3000 i.e. 3000 = a + 50k
solving above 2 eqns, 3000-1750 = 25k i.e. 1250 = 25k i.e. k = 50
therefore, substituting this value of k in either of above 2 eqns we get
a = 500 (a = 3000-50*50 = 500 or a = 1750 - 25*50 = 500)
so total cost when 100 boarders = c = a + 100k = 500 + 100*50 = 5500
so cost per head = 5500/100 = 55
………….
mal bought 5 pens, 7 pencils and 4 erasers. Rajan bought 6 pens, 8 erasers and 14 pencils for an amount which was half more than what Amal had paid. What % of the total amount paid by Amal was paid for pens?
a) 37.5%
b) 62.5%
c) 50%
d) None of these
Let, 5 pens + 7 pencils + 4  erasers = x  rupees
so 10 pens  + 14 pencils + 8 erasers = 2*x rupees
also mentioned, 6 pens + 14 pencils + 8 erarsers = 1.5*x rupees
so (10-6) = 4 pens = (2-1.5)x rupees
so 4 pens = 0.5x rupees => 8 pens = x rupees
so 5 pens = 5x/8 rupees  = 5/8 of total (note x rupees is total amt paid by
amal) i.e 5/8 = 500/8% = 62.5% is the answer
………….
I lost Rs.68 in two races. My second race loss is Rs.6 more than the first race. My friend lost Rs.4 more than me in the second race. What is the amount lost by my friend in the second race?
x + x+6 = rs 68
2x + 6 = 68
2x = 68-6
2x = 62
x=31
x is the amt lost in I race
x+ 6 = 31+6=37 is lost in second race
then my friend lost 37 + 4 = 41 Rs
…………..
Ten boxes are there. Each ball weighs 100 gms. One ball is weighing 90 gms. i) If there are 3 balls (n=3) in each box, how many times will it take to find 90 gms ball? ii) Same question with n=10 iii) Same question with n=9
to me
the chances are
when n=3
(i) nC1= 3C1 =3 for 10 boxes .. 10*3=30
(ii) 10C1=10 for 10 boxes ....10*10=100
(iii)9C1=9 for 10 boxes .....10*9=90
………
(1-   1/6) (1-1/7).... (1- (1/ (n+4))) (1-(1/ (n+5))) = ? 
leaving the first numerater and last denominater, all the numerater and denominater will cancelled out one another. Ans. 5/(n+5)
……..
A face of the clock is divided into three parts. First part hours total is equal to the sum of the second and third part. What is the total of hours in the bigger part?
the clock normally has 12 hr
three parts x,y,z
x+y+z=12
x=y+z
2x=12
x=6
so the largest part is 6 hrs
……….
With 4/5 full tank vehicle travels 12 miles, with 1/3 full tank how much distance travels
4/5 full tank= 12 mile
1 full tank= 12/(4/5)
1/3 full tank= 12/(4/5)*(1/3)= 5 miles
…….
wind flows 160 miles in 330min.for 80 miles how much time required
160 miles= 330 min
1 mile = 330/160
80 miles=(330*80)/160=165 min.
………
A person was fined for exceeding the speed limit by 10mph.another person was also fined for exceeding the same speed limit by twice the same if the second person was travelling at a speed of 35 mph. find the speed limit
(x+10)=(x+35)/2
  

soling the eqn we get x=15
…………
A sales person multiplied a number and get the answer is 3 instead of that number divided by 3.what is the answer he actually has to get.
Assume 1
  

1* 3 = 3
1*1/3=1/3
so he has to got 1/3
this is the exact answer
……..
A person who decided to go weekend trip should not exceed 8 hours driving in a day average speed of forward journey is 40 mph due to traffic in Sundays the return journey average speed is 30 mph. How far he can select a picnic spot.
  

…..
Low temperature at the night in a city is 1/3 more than 1/2 hinge as higher temperature in a day. Sum of the low temp and high temp is 100 c. then what is the low temp.
ns is 40 c.
let x be the highest temp. then,
x+x/2+x/6=100.
therefore, x=60 which is the highest temp
and 100-x=40 which is the lowest temp.
……….
car is filled with four and half gallons of oil for full round trip. Fuel is taken 1/4 gallons more in going than coming. What is the fuel consumed in coming up.
let feul consumed in cming up is x.thus equation is: x+1.25x=4.5ans:2gallons
…………
A work is done by the people in 24 min. One of them can do this work alone in 40 min. How much time required to do the same work for the second person
Two people work together in 24 mins.
So, their one day work is
(1/A)+(1+B)=(1/24)
One man can complete the work in 40mins
one man's one day work (1/B)= (1/40)
Now,
(1/A)=(1/24)-(1/40)
(1/A)=(1/60)
So, A can complete the work in 60 mins.
………..
in a company 30% are supervisors and 40% employees are male if 60% of supervisors are male. What is the probability? That a randomly chosen employee is a male or female?
40% employees are male if 60% of supervisors are male so for 100% is 26.4%so the probability is 0.264
………..
In 80 coins one coin is counterfeit what is minimum number of weighing to find out counterfeit coin
the minimum number of wieghtings needed is just 5.as shown below
  

            (1)    80->30-30
            (2)      15-15
             (3)       7-7  
             (4)      3-3               
              (5)      1-1
……..
2 oranges, 3 bananas and 4 apples cost Rs.15. 3 oranges, 2 bananas, and 1 apple costs Rs 10. What is the cost of 3 oranges, 3 bananas and 3 apples?
2x+3y+4z=15
3x+2y+z=10
adding
5x+5y+5z=25
x+y+z=5 that is for 1 orange ,1 bannana and 1 apple requires 5Rs.
so for 3 orange ,3 bannana and 3 apple requires 15Rs.
i.e. 3x+3y+3z=15
........
In 8*8 chess board what is the total number of squares refers odel
e discovered that there are 204 squares on the board We found that you would add the different squares - 1 + 4 + 9 + 16+ 25 + 36 + 49 + 64.
Also in 3*3 tic tac toe board what is the total no of squares
Ans 14 ie   9+4(bigger ones)+1 (biggest one)
If you ger 100*100 board just use the formula
the formula for the sum of the first n perfect squares is
  

                        n x (n + 1) x (2n + 1)
                        ______________________
                                  6
if in this formula if you put n=8 you get your answer 204
  

………..
One fast typist type some matter in 2hr and another slow typist type the same matter in 3hr. If both do combinely in how much time they will finish.
Faster one can do 1/2 of work in one hourslower one can do 1/3 of work in one hourboth they do (1/2+1/3=5/6) th work in one hour.so work will b finished in 6/5=1.2 hour i e 1 hour 12 min.
…………….
If Rs20/- is available to pay for typing a research report & typist A produces 42 pages and typist B produces 28 pages. How much should typist A receive?
Here is the answer Find of 42 % of 20 rs with respect to 70 (i.e 28 + 42) ==> (42 * 20 )/70 ==> 12 Rs
…………….
6)An officer kept files on his table at various times in the order 1,2,3,4,5,6 .Typist can take file from top whenever she has time and type it.What order she cann
t type.?
…………..
In some game 139 members have participated every time one fellow will get bye what is the number of matches to choose the champion to be held?
the answer is 138 matches
explanation:since one player gets a bye in each round,he will reach the finals of the tournament without playing a match.
therefore 137 matches should be played to detemine the second finalist from the remaining 138 players(excluding the 1st player)
therefore to determine the winner 138 matches shd be played.
……….
ONE RECTANGULAR PLATE WITH LENGTH 8INCHES, BREADTH 11 INCHES AND 2 INCHES THICKNESS IS THERE.WHAT IS THE LENGTH OF THE CIRCULAR ROD WITH DIAMETER 8 INCHES AND EQUAL TO VOLUME OF RECTANGULAR PLATE?
  

Vol. of rect. plate= 8*11*2=176
area of rod=(22/7)*(8/2)*(8/2)=(352/7)
vol. of rod=area*length=vol. of plate
so length of rod= vol of plate/area=176/(352/7)=3.5
………..
One tank will fill in 6 minutes at the rate of 3cu ft /min, length of tank is 4 ft and the width is 1/2 of length, what is the depth of the tank?
3 ft 7.5 inches
…………..
A man has to get air-mail. He starts to go to airport on his motorbike. Plane comes early and the mail is sent by a horse-cart. The man meets the cart in the middle after half an hour. He takes the mail and returns back, by doing so, he saves twenty minutes. How early did the plane arrive?
ans:10min:::assume  he started at 1:00,so at 1:30 he met cart .He returned home at 2:00.so it took him 1 hour for the total jorney.by doing this he saved 20 min.so the actual time if the plane is not late is 1 hour and 20 min.so the actual time of plane is at 1:40.The cart travelled a time of 10 min before it met him.so the plane is 10 min early.
…………..
Ram singh goes to his office in the city every day from his suburban house. His driver
Mangaram drops him at the railway station in the morning and picks him up in the evening.
Every evening Ram singh reaches the station at 5 o'clock. Mangaram also reaches at the
same time. One day Ram singh started early from his office and came to the station at 4
o'clock. Not wanting to wait for the car he starts walking home. Mangaram starts at normal
time, picks him up on the way and takes him back house, half an hour early. How much time
did Ram singh walked?
…………
2 trees are there. One grows at 3/5 of the other. In 4 years
total growth of the trees is 8 ft. what growth will smaller tree have in 2 years.
THE BIG TREE GROWS 8FT IN 4 YEARS=>THE BIG TREE  GROWS 4FT IN 2 YEARS.WHEN WE DIVIDE 4FT/5=.8*3=>2.4
ans: 1.5 mt 4 (x+(3/5)x)=88x/5=2x=5/4 after 2 years x=(3/5)*(5/4)*2 =1.5
………….
There is a six digit code. Its first two digits, multiplied by 3 gives all ones. And the next two digits multiplied by 6 give all twos. Remaining two digits multiplied by 9 gives all threes. Then what is the code?
  

Assume the digit xx xx xx (six digits)
First Two digit       xx * 3=111
                         xx=111/3=37
( first two digits of 1 is not divisible by 3   so we can use 111)
Second Two digit xx*6=222
                        xx=222/6=37
( first two digits of 2 is not divisible by 6   so we can use 222)
Thrid Two digit    xx*9=333
                        xx=333/9=37
( first two digits of 3 is not divisible by 9   so we can use 333)
……..
There are 4 balls and 4 boxes of colours yellow, pink, red and green. Red ball is in a box whose colour is same as that of the ball in a yellow box. Red box has green ball. In which box you find the yellow ball?
ans is green...
yellow box can have either of pink/yellow balls.
if we put a yellow ball in "yellow" box then it wud imply that "yellow" is also the colour of the box which has the red ball(becoz acordin 2 d question,d box of the red ball n the ball in the yellow box have same colour)
thus this possibility is ruled out...
therefore the ball in yellow box must be pink,hence the colour of box containin red ball is also pink....
=>the box colour left out is "green",,,which is alloted to the only box left,,,the one which has yellow ball..
……………
A bag contains 20 yellow balls, 10 green balls, 5 white balls, 8 black balls,
and 1 red ball. How many minimum balls one should pick out so that to make sure
the he gets at least 2 balls of same color.
Ans:he should pick 6 ball totally.
suppose he picks 5 balls of all different colours then  when he picks up the sixth one, it must match  any on of the previously drawn ball colour.
thus he must pick 6 balls
………………..
WHAT IS THE NUMBER OF ZEROS AT THE END OF THE PRODUCT OF THE NUMBERS FROM 1 TO 100
For every 5 in unit palce one zero is added
so between 1 to 100 there are 10 nos like 5,15,25,..,95 which has 5 in unit place.
Similarly for every no divisible by 10 one zero is added in the answer so between 1 to 100  11 zeros are added
for 25,50,75 3 extra zeros are added
so total no of zeros are 10+11+3=24
………..
git number has it first digit equals to the numbers of 1's, second digit equals to the numbers of 2's, 3rd digit equals to the numbers of 3's .4th equals number of 4’s…till 9th digit equals to the numbers of 9's and 10th digit equals to the number of 0's. what is the number?.(6marks) 2100010006 –
ans:2100010006
  

2---shows that two 1's in the ans
1---shows that one 2 in ans
0---shows no 3 in the ans
0---shows no 4 in the ans
0---shows no 5 in the ans
1---shows one 6 in the ans
0---shows no 7 in the ans
0---shows no 8 in the ans
0---shows no 9 in the ans
6---shows six 0's in the ans
……..
There are two numbers in the ratio 8:9. if the smaller of the two numbers is increased by 12 and the larger number is reduced by 19 thee the ratio of the two numbers is 5:9.
Find the larger number?
8x:9x initialy
8x+ 12 : 9x - 19 = 5x:9x
8x+12 = 5x 
-> x = 4
9x = 36NOT SURE ABOUT THE ANSWER ..
………
There are three different boxes A, B and C. Difference between weights of A and B is 3 kgs. And between B and C is 5 kgs. Then what is the maximum sum of the differences of all possible combinations when two boxes are taken each time
A-B = 3
B-c = 5
a-c = 8
so sum of diff = 8+3+5 = 16 kgs
………………
  

A and B are shooters and having their exam. A and B fall short of 10 and 2 shots respectively to the qualifying mark. If each of them fired atleast one shot and even by adding their total score together, they fall short of the qualifying mark, what is the qualifying mark?
ans is 11
coz each had atleast 1 shot done so 10 + 1 = 11
n 9 + 2 = 11
so d ans is 11
………….
A, B, C, and D tells the following times by looking at their watches. A tells it is 3 to 12. B tells it is 3 past 12. C tells it is 12:2. D tells it is half a dozen too soon to 12. No two watches show the same time. The difference between the watches is 2,3,4,5 respectively. Whose watch shows maximum time?
            A shows 11:57, B shows 12:03, C shows 12:02, and D shows 11:06 therefore,max time is for B
……….
Falling height is proportional to square of the time. One object falls 64cm in 2sec than in 6sec from how much height the object will fall.
           
The falling height is proportional to the squere of the time.
Now,the falling height is 64cm at 2sec
so,  the proportional constant is=64/(2*2)=16;
so, at 6sec the object fall maximum (16*6*6)cm=576cm;
Now, the object may be situated at any where .
if it is>576 only that time the object falling 576cm within 6sec .Otherwise if it is situated<576 then it fall only that height at 6sec.
……….
Gavaskar average in first 50 innings was 50. After the 51st innings his average was 51 how many runs he made in the 51st innings
first 50 ings.- run= 50*50=2500
51st ings.- avg 51. so total run =51*51=2601.
so run scored in that ings=2601-2500=101 runs.
…………..
Anand finishes a work in 7 days, Bittu finishes the same job in 8 days and Chandu in 6 days. They take turns to finish the work. Anand on the first day, Bittu on the second and Chandu on the third day and then Anand again and so on. On which day will the work get over?
a) 3rd
b) 6th
c) 9th
d) 7th
Ans is d) 7th day
In d 1st day Anand does 1/7th of total work
similarly,
Bithu does 1/8th work in d 2nd day
  

hence at d end of 3 days, work done = 1/7+1/8+1/6=73/168
remaining work = (168-73)/168 = 95/168
again after 6 days of work, remaining work is = (95-73)/168 = 22/168
and hence Anand completes the work on 7th day.(hope u understood.)
………………….
a man,a women and a child can do a piece of work in 6 days,man can do it in 14 days,women can do it 16 days,and in how many days child can do the same work?
The child does it in 24 days
…………
A: 1 1 0 1 1 0 1 1
B: 0 1 1 1 1 0 1 0
C: 0 1 1 0 1 1 0 1
Find ( (A-B) u C )==?
Hint : 109
A-B is {A} - {A n B}
  

A: 1 1 0 1 1 0 1 1
B: 0 1 1 1 1 0 1 0
by binary sub. a-b = 01100001 (1-0=1, 1-1=0,0-0=0, n for the 1st 3 digits 110-011=011)
now (a-b)uc= 01100001
           or      01101101
gives 1101101... convert to decimal equals 109
  

By,
V.Dinesh Babu
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TCS INTERVIEW PATTERN ON 14th MARCH 

  

HI FRIENDS I APPEARED FOR THE TCS TEST ON 14TH MARCH
THERE WERE THREE ROUNDS
>WRITTEN TEST
>HR INTERVIEW
>TECHNICAL INTERVIEW
                   
THE WRITTEN TEST CONSISTED OF 
1.APTITUDE TEST 
2.CRITICAL REASONING 
3.ENGLISH

GO THROUGH BARRENS FOR THIS(13TH EDITION OR 12 TH EDITION)

THE INTERVIEW QUESTIONS WERE
>WHY JAVA
>PLATFORM INDEPENDENCE
>WHY WE COMPILE A C PROGRAM
>WHY WE RUN IT
>WHAT IS A PARSAR
>WHAT IS DBMS
>WHAT IS RDBMS
>WHAT IS THE DIFFERENCE BETWEEN THE TWO
>SOME SQL QUERIES
>WHAT IS VB.NET
>WHY VB.NET
>OSI REFERENCE MODEL
>STRUCTURE OF OS
AND MANY MORE
                            ********BE COOL***********
BY,
Abheek Dutta 

  
